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92 O�����	� �	 ��3 E� ����?� ������� ��� ���������� ������� M'(N 
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��� 	�� +�$ 	�� ���
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� �	
�������9�� ��	� ������	��� ����� ��� �������� ����1�� 	�����:��� ��� �������2
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�� 	�� ��������� ������ �������	��� �������3 �� ����	���� 	�� ������	�2 ���1
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�� �
� ��� ���������

"����	������2� � $E5 ������	�� ������	� �� �� �7��� ��2�� ������2 	�������2
���
� �� � ������� ��9�	��	� ��� � ���� ����	���� ���� 92 ������ ������	���
�� � ��	�� �� 92 	�� ������	��� �� ���2������� <6���� !30 <�>>3 �� 	�� ���� ��
	��� 
���� 	�� ��	� ����	���� �� 	�� $E5 ������	�� ������	� �� 	�� ����	�����
������	���� ������� ���	�� +�$ 	�� <6���� !30 <9> >3 "�� 9���1���	��	
�� ���� �� ������ 9������ ����� ���	��� �������	����� �	 ��� �� �����	 ��



������	 �� 

 ��� ����	� 0*

0V

VG

Cs

Cox

Si

SiO2

(a) (b)

conductive AFM tip

gate electrode

MOS capacitor
VG

������ !30% ��� �$"��� �� � �)� $���$���	 ��� '� $��� �� �"�� 
�	�# �"� ����
���$�	��� �� 	����$�� �= � $����$���� �!� ��� 

	�� 9�������� �� 	�� $E5 �2�	��3 "��� 
��� 9� ��������� �� ����	�� �3�3
�� 	�� 
��� ������	�� ����� 	�� �7��� ��2�� ������	� �����2 �� 5�E� �� ��E�3
@�
����� 	�� ��98��	� ��������� �� ����	�� ! ��� ����� ���� ��� �	��� 	2��� ��
������	����3

#����� � ������ ������	�� ������	��� �� 	
� ��	�� ����	����� ������	�� 92
� ������	��� ��2��� 	�� 	�	�� ������	���� � �� � $E5 ������	�� ������ 
�	� 	��
������� ���	���3 "�� 	�	�� ������	���� � ������	� �� 	�� ������	���� ��� ��
	�� �7��� ��2�� 
���� �� ����� 92%

��� R ��� � �� � �
	

<���	% �> <!30>

@���� � �� 	�� ���� �� 	�� ������	�� <�� 	�� �A��	��� ���� �� 	�� +�$ 	��>�
	 �� 	�� 	�������� �� 	�� �7��� ��2��� ��� ��� �� 	�� ������	��� ����	��	 �� 	��
�7���3

� ������� ���� �� 	�� ������	���� �� �� 	�� ������� ��2�� �������	��2
9���
 	�� 5�E� ��2��� 
���� ����	����2 �� �����	�� ���� ������ ��������3 "��
������	���� �� 
��� 9� ������ �
�
��� �� ���
��������� �����
����� ���� ��
3
"�� �����	�� ���� ������ 	�� ������� 
��� ���2 
�	� 	�� ���	��� ������� 	�
	�� $E5 �2�	��3 �� 	�� �����
��� ���������� �� 	�� 9�������� �� 	�� $E5
�2�	��� 	��� ���	��� 
��� 9� ������ ��	� ���	��� 
�� ��	����� ���	 ��	�� ��
	��� 
���� 	�� 	�� ����	���� �� 	�� $E5 �2�	�� ������	� �� � ������	���
+�$ 	��3 "�� ������� ������	���� ������� �� 	�� ��	� ���	��� 
�� 9������



������	 �� 

 ��� ����	� 0/

�	 ���	��� ������ �� 
�� 	�� ��	� 
��� ����� 	�� ��8���	2 ������ �������� �� 	��
9��� ������� ���� 	�� 5�E� ��2��% �� R ��<
�>3 "�� ������� ������ 9���
 	��
5�E� ��2�� �� �������� ���� ��8���	2 ��������� ��� 9������ ���� �� ������	��3
"��� �� 	�� ���� ��� �7����� �� � �1����� ������� 
���� ����	��� ���	����
��� ������� 	� 	�� ��	� 
�	� ������	 	� 	�� ����� ������3 "�� ������
��
����� 	
��� � �� 	�� �7	��	 �� 	�� �����	��� ��2�� ������ 	�� �������3 5������
	� �:��	��� !30� 	�� ������� ������	���� �� <�� ���	� �����> ��� 9� �������	��
�� 	�� �����	��� ��2�� 
��	� �� 	�� ������	��� ����	��	 �� 	�� ����������	��
�� ��� 	�� ���� � �� ���
�3

�� R �� � �� �
�

�
<���	% �> <!3!>

�	 �� ��
 �����9�� 	� �������	� 	�� 	�	�� ������	���� � �� 	�� $E5 �2�	��3
������ !30 ������	�� 	��	 	�� 	�	�� ������	���� ��� 9� �������	�� 92 	�� �7���
������	���� ��� �� ������ 
�	� 	�� ������� ������	���� ��%

0

�
R

0

���

S
0

��

<!3�>

��� 	��� �7���� ��� ��
 ����� �������� 	�� 	�	�� ������	���� 
��� 9� ����1
��	�� 92 	�� ������� ������	���� �� <����� 	� ����	�� !3�3)� 6���� !3* <�>>3

�	 �� �����	��	 ��� 	�� �����
��� ���������� 	� ������	��� 	��	 	
� ������	�1
���2 ��A����	 ������	���� �7�������� ��� 9� ��6���3 "�� ����
� ������	����
�� ��6��� ��%

����� R
�


�
<!3)>

@���� � �� 	�� 	�	�� ������ �� 	�� ������	�� �� F�����9 ��� 
� �� 	�� �������
���	���3 "�� ���	 �� ����� 	�������� �� �����3 "�� �
������
�� ������	���� ��
��6��� ��%

�<
�> R
��<
 >

�


���
��

<!3'>

+����� � �� ����� �� F�����9 ��� �<
�> �� ����� �� �����3 ,�	� ��6��	����
��� 9� ������� 	� 	�� $E5 ������	��� ��
����� 	�� 	
� ������	����� 
��� 9�
��A����	 9������ ������ �� �� $E5 ������	�� ��� ���2 �����
������ 
�	�
	�� ���	���3 "��������� �� 	�� 	
� ������	������ 	�� ���	 �����	��	 �� $E5
������	�� ������������ �� 	�� ��A����	��� ������	���� ��6��� �� �:��	���
!3'3 "� ������� 	�� 	�	�� ������	���� �� � ����	��� �� 	�� ������� ��	�
���	���� � ����� +F ���
���
�� ������� 
	�
�� �� ������������ �� 	�� �F ��	�
���	��� 
�� �� �� ���
� �� 6���� !3!3 $�������� 	�� ������	���� �<
�>
�	 ��A����	 
� ������ ����� � �� ������ F<G> ����� �� 	�� $E5 ������	��3



������	 �� 

 ��� ����	� 0&

VG

time

sum of all voltages on
the gate (or AFM tip)

Vexcit

������ !3!% �	��$���� �� �����	��� �"� ��7�	������ $���$����$� ����� �= ����	�
�������� � ����� ��	����� ���� �*$������� ������� �	�
�� �� �"� $������� �������
���� �� 

"�� �������� F<G> ����� �� � ���� �����7���	��� 	� 	�� ����� ��A����	���
������	���� �� �:��	��� !3' ���2 �� 	�� �7��	�	��� ���	��� �� ������ ��� �� �	���

����� 	�� �7��	�	��� ���	��� ��� 	� 9� 
�	��� 	�� ����� �
���� ���
��3 �� 	��
�7��	�	��� ���	��� �� 	�� ������ 	�� �������� ������ ��� 9�������� 9������
�� 	�� ���� �� � ������ �������� 	� 	�� ������� �7��	�	��� ���	���3

"�� �����
��� �������	���� ��� �����	���� ���2 ����� 	� 	�� ��A����	���
������	���� ��� �� ���2 ���������� 
�	� �7�������	�3 "��������	 	��� 
����
	�� 	��� ������	���� �� ���� 	� ���� ��A����	��� ������	����3


�
 ����� ����� ��� ���� ������ �

"� ������� ��	����	���� �7��������� ��� 	�� 9�������� �� 	�� $E5 ������	��
����� ������� ���	���� 6��	 ��� ��� 	� ������	��� 
��	 ������� �� � ��	� ��1
	����� <�� +�$ 	��> �� ������	�� 	� �� �7��� ������� 5� ������3 "�� ���������
	��	 	��� ����� ��� 9��	 ������9�� 92 ���
��� 	�� �����2 9��� �������� ��
	�� �������� ��	����� ��2���3 ������ !3� <�> ���
� ���� � 9��� ������� ��� �
$E5 ������	�� �����	�2 ��	�� P��������2Q ������	��� � ��2�� �� � ��	� ��	�1
���� 	� 	�� �7��� ��� �������� ������1	������� 92 ����	����� ���	��	 9�	
���
��	� ��� 	�� ������� 9��� ��	�����3 "�� �7��� ��2�� �� ������� 	� 9� � ������	
������	��� 	���� ��� �� ������� ������	� 	������ 	�� �7���3 �� �������� 	��

��� ����	��� �� 	�� ��	� ����	���� ��� 
��� 9� ��A����	 ���� 	�� 
��� ����1
	��� �� 	�� ������� ������ ���3 "�� 
��� ����	��� �� � ��	����� �� 	�� �����2
������ 	� �7��	� �� ����	��� ���� 	�� ����� ����� <��� ��� ��� ��� 	�� ��	�
��	����� ��� 	�� ������� ������� ������	����2> 	� 	�� ������ ������ 
���� 	��



������	 �� 

 ��� ����	� !(

(b)

χ

EFm

E

E

E

V

i

C

x

qφ
B

q

E g / 2

vacuum level

qWm

Emo

EFs

qWs

oxide Si
gate /
AFM tip

(a)

x=0 x=0

qψ
s

EFm
E

E

E

V

i

C

EFs
qφ

s

VG = VFB

qVFB

oxide Si
gate /
AFM tip

VG = 0V

������ !3�% ,"� ���� ����	�� �� � �)� $���$���	 ��� ����	 %������ $���������
��� ��� �� ��	� ���� ������� 

����	��� �� ��	 9���� 	� 	�� ��������� ��	����� ��2����3 "�� ���� ���
� ��
6���� !3� <�> �� �������� 	� �� 	��  ������ ����
�
��� 9������ 	�� ������	���
�� 
��� �� 	�� ������� 9���� ��� I�	� 	��	 �� 	�� 9��� ���� �������� �� ���
�� ��� ����	��	 ��� ���� 	�� �������3 @�
����� 	��� �	�	� �� ��	 	�� 	������21
����� �:����9���� �� 	�� $E5 �2�	�� <	�� ����� ����� �� � 	������2�����
��	��	��� 
���� ��� 	� 9� ����	��	 	��������	 	�� �9������ �2�	�� �� 	���1
���2����� �:����9����>3 �� �����	2� ���2 ����� 9�	 6��	� ������� ������	�

��� �:����9��	� 	�� ����� ������3 "��������� 	�� I�	9��� �����	��� ��� ���2
9� ����	����� 92 ����2��� �� �7	����� ���	��� 	� ����	�� 	�� 	������2 �� 	��
������ �������� 	� 6�� �� �:����9���� ���	��9�	���3 "��� ���	��� �� ��������
	� �� 	��  ������ ������� 
�
3 �� ���� �� � ����	 ������	 <��� ���� ������	���
��� 	� ���1
��� ������� ������	�> 9�	
��� 	�� ��	� ��� 	�� ����������	���
	�� ����	���� 
��� I�
 ���� 	�� ��	� 	� 	�� �������3 @�
����� 	��� ����������
������ ���	����	2 �� 9�	� ����� �� 	�� ������	��� ��2�� ��� �� ����	��� 6���
9����� �� 9�	
��� 	�� ��	� ��� 	�� ������ 	��	 ������	� ���	��� ��	 I�
 ��
����	����3 "�� �:����9���� �� ������� �� 	�� ����	 ��	� �� ������ �������� ���
	� 	�� ����	��� 6��� ����	��� 	�� 	������2 �� 	�� �������� 	� �����2 	�� ��
��	
�����2 ������3 �� �:����9����� 	�� ����� ����� �� 	�� ���� ����2
����� 
����
�� ���
� �� 6���� !3� <9>3

"�� ����	��� 6��� ��� 	�� �������	�� ��	��	��� ���� �� ���	��9�	�� 9�	
���
	�� ������	��� ��2�� <	�� 5�E� �� ��E� ��2�� �� 	�� ���� �� 	��� 
���> ��� �
������� ��2�� �� ���2��� �7	��	3 ������ 	�� �������� 	��� ����� 	� � 9������ ��
	�� ������� ��� ������	��� 9���� ����� <�� ��� �� ������	����2> ���� 	��
5�15�E� ��	������3 ������ !3) ���
� 	�� ����	��� 6��� �� � $E5 �2�	��3 "��
��	� ����	���� �� +�$ 	�� �� ������� 	� 9� � ������	 ������	��� 	��������



������	 �� 

 ��� ����	� !0

0V

VG

Cs

Cox

Si

SiO2
electric field

-d

0

x

(a) (b)

Fox

ε  o
x
F o

x
=

ε s
F s

������ !3)% ,"� ���$�	�$ 6��� ������ �"� �)� $���$���	 ,"� ���$��������= �� �"�
����	��$� �� ��� �� �"� ��7�	��� �����$�	�$ $�������� �� �"� �*��� ��� �"� ����$��
������ 

	�� 6��� ���� ��	 ����	��	� 	�� ��	� �� +�$ 	��3

5��� �����2 ����� ������ 	�� ������� ������ �� 	�� ���	���� 
 ���� 	�� �7���3
"��������� ���� �����	��	 ����	���� 9�	
��� 	�� ��A����	 �����2 ������ ���
��	��	���� �� 6���� !3� 
��� 9� ��6��� ��
% "�� ����	��� 9�	
��� 	�� �����
����� ��� ��� 	�� ��	������ ����� ����� ��<
> �� 	�� ������� �� ����� 92

� � �<
> R ��� � ��<
> <!3 >

�� R �<(> �	 	�� 5�H5�E� ��	������ <!3*>

�
 R �<�> ���� ������ 9��� 5� <!3/>

"�� ��	������ ����� ����� �� 	�� ����� ����� �� ���� �� �� ������� �������1
���	��3 +	 ���� 	������	���� �	 ���
� � �������9�� 	������	��� ����������
��� ���� �����7���	��2 �	 ������� �	 	�� ���� �����2 ���	���� 	� 	�� ���1
���	��� ��� 	�� ������� 9��� ����3 "�� ������� ������
�� �� ������ �	 	��
������� �� 	�� ����������	�� <
 R (> ��� 	�� ���� ������
�� �
 ������ ������
	�� ����������	�� 9���3

"�� 9��� 9������ �<
> :���	�	�	����2 ������9�� 	�� 9������ �� 	�� ��1
����� ��� ������	��� 9���� �	 ��2 ����	 
 �� 	�� ������� 
�	� ������	 	� 	��
9��� �����%

�<
> R �<
>� �
 <!3&>



������	 �� 

 ��� ����	� !!

�� R �<(> �	 	�� 5�H5�E� ��	������ <!30(>

"�� 9��� 9������ �	 	�� ������� ������� �� �� �������2 �������� 	� �� 	��
����
�� ��
��� M/�N� ���� '03 L�	� 	��	 �� �� 	�� 	�	�� ��	��	��� ��A������
9�	
��� 	�� ������� ������� ��� 	�� 9��� �������3

"�� ����� ����� ���� ��� ��9��:���	�2 	�� 
��� ����	��� ��� �� 	�� ����1
��� ������ �� 	�� ������ ������	��	��� �� �� �� �� <�� ���	� ����> ��
�����	��� �� ����	���� ������	����23 "�� 
��� ����	��� ��� 9� �������	�� 92
������� �� 	�� ������������� ��	��	���� �� 6���� !3�%

�� R �S
��

! � � � �
 <!300>

� �� 	�� ����	��� �Æ��	2 ��� �� 	�� 9��� ��� �� �������3 �7�������	�� ������
��� 	�� ����	��� �Æ��	2 ��� 	�� 9��� ��� ��� 9� 	���� ���� ��	���	��� M0(&N
<� � � R )3(' �G� �� R 030! �G �	 �((=>3 "�� 
��� ����	��� ��A������ ���

9�	
��� 	�� ��	� ��	����� ��� 	�� ������� �� ���2 �����	��	 ��� 	�� 9��������
�� 	�� $E5 �2�	�� ��� �� ��6��� 92%

��� R�� ��� <!30!>

"�� 9��� ��	��	��� �
 ��
 ����� 	�� ���������2 �� 	�� ������ ����� �� ��
��%

�
 R
� � �
�

� ����

��
�1	2�� <!30�>

�
 R
� � �
�

� �� ��
��

�1	2�� <!30)>

�� �� 	�� ��	������ ������� ������	��	��� �� ���� 	�� ����������	�� �� �������3
�	 ����������� 	� 	�� ��	������ ����� ����� ��3 +� �7�������	�� ����� ��� ��

�� ����� 	���� ���� ��	���	��� M0(&N % �� R 03)'�0(�� ���� �	 �((= �3

��� 	� �:��	���� !3 ��� !3&� ���� 	�� ������� ��	��	��� �� ��� 	�� 9���
9������ �� ������ �� 	�� ������� ������ ����� ��� 	�� ����� ����� �� �������
���3

���� 6���� !3� <�> ��� <9> ��� ��� ��� 	��	 	�� �����2 ������ ��� 	�� 9���
9������ ������ �� 	�� ������� ���	���3 "��� �� ������ 	�� !��� �����3 ��	�

���� �� ��� ����	
��� 
� �
���
�� ���� ��� ����� ��� ���� ������
�� �� ��� �����
������
��� ��	� �����
�� ��� 
� 
�����
�
�� �� �����	����� �		�	� �� ��� 
��	
��
� ��		
�	 ����
��
��� ���� ��	�
�� �� ��� ������ 
� ���� �
	���
��� ���� ����	 ��� ��	� �����
�� ���� ��
���� ���� ��� �!�



������	 �� 

 ��� ����	� !�

�7����� 
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 ��� ��1
����� �� 	�� $E5 ������	��3 ,���� �� 	�� �����	 �� ����	���� ��� ����� ��
	�� ������� ��2�� 9���
 	�� �7���� 	���� ��� 	���� �����9�� ������ 
���� 
��� 9�
��������� ��� � �1	2�� ������� ����������	��%

� ���� �&$����: �� ��� ������� � ��	� ���	��� 	��	 �� ��	�� 	��� 	��
I�	9��� ���	���� 
� �� 
�
� 	�� �����2 9���� 9����� ���� �� 6����
!3' <�>3 L� ����	����� ������	 I�
 �� �����9�� 	������ 	�� �7��� ��2���
	�������� 	�� ����� ����� �� ����	��	 	��������	 	�� �������3 "�� ���2
����� ����	��� ���	��� �� 	�� ��	� ���	��	 ����� 	�� ����� �� 	�� �������
������ 	� ��������	� ���� 	�� 5�15�E� ��	������3 "�� ��8���	2 �������
������	��	��� <�����> �� ��������� �����6���	�23 �� 	�� 9��� �������
�� 6���� !3' <�> 	��� ����� 	��	 	�� 9��� 9������ �� ��������� ���
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���
� �� �:��	��� !3�3 �� �����	���� 	�� 	�	�� ������	���� �� 	�� $E5
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'� �$$���������# �"� ����� ���� �� ��� ��;�	��= $�		��	� ��� �"�� $���F "�����
�$$������� �� �"� ����$�� � ��)� ����	��$� ��� '� ���������# �"� ����$�� ��=�	 ���	
�"� ����	��$� �� �������� �	�� �	�� $"�	�� $�		��	� �$� '� ����	����# �"� ����	��=
$�		��	 ������= ����$�	���� �� �"� ����	��$� �� ��	��	 �"�� �"� ��;�	��= $�		��	 ������=
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�� �� 	�� ������� ��	��	��� �� �� ����� 9������ 9�	� ������ ���2 ��A�� 92
�� ����	��� ����	��	 <�
� ����� 	� �:��	��� !3&>3 ,�	� ������ ������9� 	��
���� ��2����� ��� ��6�� 	�� 9�������� �� 	�� $E5 �2�	�� 92 �A��	��� 	��
�������� �� 	�� ����������	��3 "�� �������	��� 	� 	�� ��	� ���	��� �� ���2
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��� 9� ����� ��	��3 "�� ������ �����	2 �<
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���� ����� 	��	 	�� ��8���	2
�������� ��� ������ ��� 	�� ������	��� ��� ����	����3 "�� ��A������ 9�	
���
��
 ���:����2 ��� ���� ���:����2 9�������� ������ �� ���������3 +	 	�� ��

���:����2 ����� 	�� 	�	�� ������ �� ����	���� <������	���> ������� 
�	� 	��
��� �� 	�� �F ��������	 �� 	�� ��	� ���	��� ��� 	�� �7��	�	��� ���	���3
+	 	�� ���� ���:����2 ���� 	�� 	�	�� ���9�� �� ����	���� ��� ���2 ��6���
92 	�� �F ��������	 �� 	�� ��	� ���	���3 @�
����� 	�� 67�� ���9�� ��
����	���� �� 	�� ��������� ��2�� ����	 	� 	�� ���� ���:����2 �7��	�	��� ���	���
92 �����������2 �������� 	�� �7	��	 �� 	�� ��������� ��2��3 + ���� ��	�����
���������� 
��� 9� ����� �� ����	�� !3�30 ��� !3�3!
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� 	� �9	��� �� �7�������� ��� 	�� ����	��� 6��� �� <�� ������ ���	� G.�>
�	 	�� ������� �������3 "�� ����	��� 6��� ��� 9� ������	�� 	� 	�� 	�	�� ������
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+ ���������� �� 	�� �����	� �� 	�� ��
 ���:����2 ��� 	�� ���� ���:����2
���� ��� 9� ���� �� 6���� !3 3 "�� ��
 ��� ���� ���:����2 ����� ���2 ��A��
�� 	�� ��������� ������� 
���� 	�� ������	2 ������ �������� ������	�3 ��
��������	��� ��� �����	��� 	�� 9�������� �� 	�� ����3
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 ��� "��" �	�5���$= $�	��� ���= ��7�	 �� �"� ����	���� 	�����# 
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	�� ����������	��� 	�� �����	��� �� ������	2 �� 
��� �� �� ��8���	2 ��������
��� 9� ������9�� 92 � ������ ������	��� 	�� ����� �����3 ?���� 	� 6�����
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����� ��
%

�<
> R
� � �<
>
� � � <!3!)>

�<
> R
� � �<
>
� � � <!3!'>

��� ������������ 9�	� 	�� �7�������� �<
> ��� �<
> 
��� 9� ������ 9��� 9���1
��� ���� ��
� 9������ 	��2 ������9� 	�� ���� ��2����3 5�������2� �
 ��� �

���� 	�� ����� �� 	�� 9��� <
 R �>� ��� �� ��� �� ��� 	�� ������ �	 	��
����������	�� ������� <
 R (>3 #���� 	�� �99�����	��� �� �:��	��� !3!) ���
!3!'� 	�� ������ �����	��� �� �:��	��� !3!( ��� ����� 92%

�<
> R �� � �7�M�<
>N R �� � �7�M�<
>N <!3! >

�<
> R �� � �7�M��<
>N R �� � �7�M��<
>N <!3!*>

L�	� 	��	 	�� ����	��� ��� ���� �����	��� �<
> ��� �<
> �	�����2 ������ ��
	�� 9��� 9������ �<
> �� �<
> <$�7
���1,��	
���� ����	����>3 "���������



������	 �� 

 ��� ����	� !/

��9��:���	�2 	���� ������ ������ �� 	�� ������� ��	� ���	���3 "�� �����	��
��� ����	�� ������	��	���� �� ��� �� ��� 9� �7������� �� 	���� �� �
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��� ���� � 	� ������ ���	��� ����3

+ ���� ��	����� ����2��� �� 	�� �����	 �� 	�� �	��2 ������	���� �� 	�� 5F$
������ �� � ��98��	 ��� ��	��� �����	���	����3 �� �������� ��������� ����� 5F$
������ <�3�3 ��� ���> ���� 	�� ������ ���� �� ��	 �A��	�� 92 	��� ���9����
��
���� �	 �� ����������� 	� ��8��	 	�� F��3 5����� ���:����2 �� � 
�2 	�
�9	��� 	�� ������	 �����	���	2 ����� 	� 	�� ����������	3

"�� ������	 ������ 	�� 5F$ ������ �� �����	��� 	� ������	���� �����	����
�� ����� �� �� <0(����.
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�� 	�� 5F$ ������ ������ ����� 	� 	�� 5F$ ������ M�N �� 	�� �������� 
���
���� BF+ M//N3 ��� � ��	����� ����2��� �� 	�� 5F$ ������ ������	��� 
�	� �
�� 5F$ ������ ��� � ���������� 	� �	��� ������	���� ������� ����� 	� 	��
������������� ���	� �� 	�� ?�� 	����� �� +7�� ,��� M0'N3 #����	���	��2� 	��
������� ���� �� 	�� ������	�2 �� ��	 �������� 92 ����	�� ���	�����	�3
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���	���3 @�
����� �� ������9�� �� 	�� �������� ����	��� 	�� 5F$ ������
������� 	�� ������ �� 	�� ������	����� ��.�
 � ��� 	�������� 	�� 	�� �����	1
��� ����� �� 	�� 6��	 ������	��� �� � F<G> �����3 L����	������� �� 	�� �����
���
���������� 	��� 
��� 9� ������ � �����
����� ��������� ��� �	 
��� ������ ��
	�� ���	�7	 
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 ��3 G M<��.�
 ><
 >N ������ �� � ��3 
 MF<G>N
������ ��� ����	3 ��� 9�		�� �����	2� �� 6���� �3� � ������	�� F<G> �����
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 > �� ���
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��	� 	��	 	�� �������	��� ���	��	 �� � <��.�
 ><
 > �� ���� 	��� 	��	 �� �
������	����� F<G> �����3 ��	� 6��	 ������� ����� �����	���� 
�	���	 ��2
�	��21������	���� ������������ �� 	�� ������	���� ������ �������	��� ����
	�� ������3 +� ������9�� �� ����	�� !� 	�� �7��� ������	���� ��� R ��� ��
��� 	�� ����������	�� ������	���� �� R �� � � <�3 3 3 �A��	��� ����	�����
	�� ����> �� 	�� �����	��� ������ ��� 9� �9	����� ���� �� ����� F<G> �����
��� ��� ������ ������3 @�
����� 	�� �9����	� ����� �� 	�� ����������	�� ��1
����	���� �� 	�� �����	��� ������ ��� ��	 9� ��	������� �� 	�� ���� �� �
<��.�
 ><
 > �����3 ������� � F<G> ����� ��� �	��� 9� �������	�� ���� 	��
�������� <��.�
 ><
 > ����� 92 � ������ ��������� ��	����	��� ����������
9�	 	�� F<G> ����� �9	����� �� 	��� 
�2 �� ��	������� �7���	 ��� �� ����	���
����	��	3 "�������� �	 �� �������
����� 
�����
��� 	� ��	������ 	�� ������
����� �� � ����������	�� 92 � ������ ����������	 
�	� 	�� �� 5F$ ������3
#���� ���	��� �������	������ �	 �� �����9�� 	� ��	������ �����
� ������
������ 
�	� ���	���� ����������	�� �� 	���� �7��	� 	�� �����9���	2 �� �������1
��� ����9��	��� ����������	�3 "�� ���2 ����� �	��2 ������	���� ������ 	��	
������ ����� ���� ����������	 �����	���� ��	����	�����2 �� ��� �A��	 	��
�������	��� �� ������ ������ ���� ���	���� <��.�
 ><
 > ������� 9������ 	��
�	��2 ������	���� ���2 ��	������� ���	��� ����	��� ����	��	 	� 	�� �����3�
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�	� 	�� ������	�����
5F$ �:������	 ��� ����������	 
�	� 	�� ��	�� ������9�� �� ����	�� �3!3
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 >
����� �� 6���� �3� 
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 ><
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�����C� ���� 9�	 ��	 	�� I�	9��� ���	��� <�3�3 �� �����	���	� ��7	��� ��
��A����	 ������� ������ �� �	 	�� ��	������ �� 	�� ������	��� ��2��3>

,������ 	�� 5F$ ������ ������� ����� ���9� ���	���� <������ 0G> 9�1
2��� 	�� ����� ������ ������� 	�� <��.�
 ><
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 ><
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�����	�2 �A��	�� 92 �����	��� �A��	� ��� 	� 	�� ���2 ����� 	�� ���� <����� 	�
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"�� ���� ���	��� �� 	�� 5F$ ������ �� 	��	 �	 ���	���� ���	 ������ �����1
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�� 	�� <��.�
 ><
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������ �3)% �����	���� �� � ��K�� ���$�	�� 	�$�	��� �= �"� ��� ������ �C�
��� � ��������� $�	�� �E� 
�� �� ��	�� �*$������� �������� ������� �= �"� ���
������# �"� �����	�� $�	�� �C� �� �����6$����= �	������� ,"� �����	�����

�� ��	��	��� �� 1 �� �� ��)� ����� � ���=�� ����$�� ������ 
��" �� �$$����	
$��$���	����� �� ��GC�C3�� $��� ,"� ���������� 
�� ��	��	��� 
��" �"� ����
��	�����	� ����� �"� %�� $���$���	 ����� ��� �������� %������ $��������� ��
��G3/  

	� 	�� ����	�� �3)3 "�� ����	��	 �F 9��� ��� 9� ������ ��9�	�����2� ��	��� 	�
���� 	�� ������	 ���	���	 �� � �����6� ������� �� 	� �9	��� � ����	���� ��1
�������� 5F$ ������ ��� ���������� ������ ������3 �� ��2 
�2� ��A����	 ������
������ ��
�2� ���� 	� ��A����	 5F$ ������ ��� ���	���	� ���� �� �� ���	 �����
	�� 5F$ ������ 
��� ��� ������ ����	�������2 
�	� � ����	���� ������ ��
	�� ������ ����� <����� 	� ����	�� �3' �� 	� 	�� �������� ��	���� M0('N>3 ������
�3' ���
� 	���� 5F$ ������ �� ��� ��� 	�� ���� ����� ���	��� �� � 9������
	������	�� �	 ��A����	 ������� �F 9��� ���	��� ������3 "�� �F 9��� �	�����2
�A��	� 	�� ���	���� �� 	�� 	������	�� 
���� ��� 9� �9������ �� 6���� �3'3

!�
 �
� ����������� ������ ���"�

����� $�� +�'�������� /�����

"�� +����� @�������� +@!''(+ ��	��1��������� ������	���� 9����� ���� ���
	��� 
��� �����	�� �	 �� �7��	�	��� ���:����2 �� 0 �@
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 �����	��� �� ��������2 ��6��� ���	���� 	� ����� ���� � ��� ) �� 	�� 9�����3
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� 9�	� �����	��� ��� ������	��� ��������	� �� 	�� �����
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�� 	�� �������������� �� �9�� 	� �9	��� 	��� ���� <�� ������� ���	���>
�����	��� ������ 9��������� 	�� �����
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���� �� 	�� ����9��� �� �A 9�	� ��� 	�� 5?$ 	�� �� 
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�9��	 	�� 	������ �7������� �� 	�� ��	�� ��� 	������	��� ���������	 �����
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����	���	��� �� 	�� 5?$ �������� ����� �	 �� ��	 �����9�� 	� ������� � ������
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�� ����	������2 ������	�� 	� 	�� ������	��� +�$ 	�� ��� ������3 �� 	�� ����
	�� ������	����� 5F$ �� ����� 	��� 
��� �� ������� ��	� 	�� 5F$ ������3 "�
������	 	�� ������	���� 9����� 	� 	�� 
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�	� 	�� +�$ 	��3
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��� �� 	�� 	�� ������ �� �������� �� 	�� ����� 	��	 ����� 	�� 	��3 "��
���� ����� ������� 	� 	�� 
��� ����	����2 ����� ���� 	�� ����� ��� �������
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������3 "�� ����	���	��� �� � ������ ������ 	����� ��	 	� 9� �������� 9�1
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�	� 	�� 9����� ����������	3 ��
������	����� 5F$ 	�� ����� �� ���� 	� ����2 	�� �F 9��� ���	���� 9�	 �	 ���
��	 ������	 	��� ����	��� �� 	�� ���� �� 	�� 9����� ��	��3 "�� ������ ������
�����2 ������	� �� �� ������	��� ���72 9����� 
�	� � ����� ������ �	���	���
�� 	�� 	�� ����3 E� ��� ���� �� 	�� �	���	��� 	�� ���7��� ��9�� ���� 	�� P��
Q
	������� ��� 9� ������� ��� ��� �� 	�� �	��� ���� ��� ��� ����� 	�� ������3
"� �9	��� � ���� ����	����� ���	��	� 	�� ������ �	���	��� �� ���� ���	��3 ���
���� �������	��� �9��	 	�� ���������	� 9��� ���	��	 �� 	�� ������� ���
��
 �	 ��� 9� ��	�9������ ����� 	� ����	�� �3�3 "� ��������	� ��� 	�� �	����
������� 	� 	�� ������ ������ 92 	�� �	�A ���7��� ��9��� 	�� ������ ������ 
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67�� 92 � ������ ������� 9�	
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�2 	�� ������	��� 9�	
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�� ��	�9������ �� ���	����2 ��� ���� 9���� ������ 9������ �� 	�� ����	�����	��2
����	����� ���������3 L����	������� �	 	����� ��	 	��	 �����9�� ������	���� ���1
�������	� ��� �����9�� 
�	� 	��� ��	��3 "�� ����	����� ����� 	��	 �� ������	��
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�	� 	�� 9����� ��	��3 �3

!�! ����+���
��� �� ���������� ���, �������

�� �
� �� ���

+ ���1����� 9��� ���	��	 	� 	�� ������ ��� ��A����	 �����:������ �� ���1
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 ><
 > ������N ��

��� �� ����� 	�� 9����� ��	�� MF<G> ������N �� ������ ������ ���	�� � ����
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"�� ������ 
�� ����� 	� 	�� �	��� ���� ��� ��	 �����	�2 	� 	�� ������ ������
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,����� 
� ������� ��� 5F$ ��	�� 
� ���� � ������	��� ���������� 	��
9��� ������	2% �� ������2 	� 	�7	9���� �� $E5 	����2 M0(&� /�N� 	�� 9��� ��
	��� 
��� �� ��
�2� ���		�� �� � 
�2 �� �� �	 
���� 9� ������� 	� 	�� +�$1	��3
�� �����	2 	��� �� ��	 	�� ����� ����� �� 	�� ��1�0(( 5F$ 	�� 9��� �� �������
	� 	�� ��9�	��	� ��� 	�������� �������3 ���	������� ��� ��� 	� ���� �� ����
	��	 	�� 5F$ ���2 �������� 	�� ������	��� �� 	�� ������	����� ��.�
 � ���
��	 	�� ������	���� �	����3

������ �30! ���
� ����� ���	����� 5F$ ������ �� ��� ������ �������� �	
��A����	 9��� ������3 "�� ������ ������� �� �� 	�� ����	 ���� ����3 ������
�30!<�> 
�� �������� �	 � 	��1 9��� �� 103&G ��� 6���� �30!<9> �	 GRS(3/G3
+� ��� ��� ���� 	�� ���	���	 9�	
��� 	���� 	
� ������ �� ��������3 ������
�30!<�> ���
� ����� ���	���� �� 5F$ ������� �������� �	 ���� ��A����	 9���
������3 "
� ���	���� ��� ������	% ����	� 	�� )(( �� 
��� ��A����	�2 �����
��2��� ��� ������2 ����9�� �� 
��� ��6��� �	��� �� 	�� 5F$ ������ <����� <0>>3
+� � �����:����� 
� �������� 	��	 �����	�2 �A��	� �� 	�� 	�� ��� 9� ��1
����	��� �	���
��� 	�� �	��� 
���� 9� 
����� ��	3 "��� 
�����	� ��
����
�� �����2 ���� ��� 	�� ������ ����� �	 	�� ��9�	��	� ��	������� 	�� ����	��� ��



������	 �� ���������  �

������ �30!% ��� ��� ����� �� ��	 ������ ����� �� � ���� �� BC H/ '���� ��� 
��
	�$�	��� �� N3 O/ ,"� 	������ ����� "��� ������ $��$���	������ E � C3�� $���#
E � C3�� $���# C � C3�� $���# E � C3�
 $��� ��� H � C3�
 $���# 	����$�����= 
�$� ��$����� �"	���" ��� ������ ����� �� � ���� �� N3 O/# 3/# B3 2/ ��� BC H/
�$�	��� C# A# 1# 2# 	����$�����=� ,"� �����	��� �� �"� $�	��� $�		������� �� �"�
�����	��� �� 6��	� A CA 


���� �� ������ 92 �� ����
 9�	� �� ����� <0> ��� 	�� 5�$5 ��	� <6����
�300>3 +� 	�� ����� �� ���� �����
�� 	��� 	�� �	��� ��� ������2 �� 	�� ����
����� �� 	�� ������ �� 	�� 	�� <0(( ��>� ���2 � ����� ��� �� �9������ ���	���
�� 	�� �7���	�� 
��� ���������� �������3

+� � ������ ���	��� �� 6���� �30!<�>� 	�� ���	���	 ���������� �� � ����1
	��� �� 9��� ��� 9� ���� �� ��	���3 +	 H03&G <����� <0>>� 	�� 5F$ ������
��������� 
�	� ���������� ������3 +	 S(3/G <����� <'>>� ��
����� 	��� 9�1
������� �� �������� ��� 	�� 5F$ ������ ��������� ����	�������2 
�	� �������1
��� ������ ������	��	���3 ��� 9��� ������ �� 1(3'G ��� (G 	�� 9�������� ��
��� ����	���� ��� 	�� ��7���� �� 	�� 5F$ ������ �� �9������ �� ������
<�> ��� <�>� ������	����23

+�	����� 	�� 9��� ������� ���	���	 �������� 
�� ������2 �����	�� �� 	��
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��	���	��� M&/N� � ��	����� �	��2 �� 	��� 9�������� 
�� ��	 ������� ��	 ��
	� ��
3 "� �7����� 	�� ������ �� 	��� 9��������� 
� �������� �� ����� �1
5�.5�E�.+� 8���	��� �� ����� �2�	�� ��� ��� ������	����� $E5 	����23 +�
����� $E5 �	���	��� ������	� �� 	
� ������	��� �� ������� ��� �� ��������	�� 92
	�� 5�E� ��2��� 	�� �	��� 92 	�� �����	�� ����� ������ ������ �� 	�� �������
��������	�3 "
� �7	���� ����� ��� 9� ���	��������� �� ���� � �	���	���3
+	 �	�����2 ����	��� 9��� <P��������	���Q>� ����� ���� 	�� �1������� ��� �	1
	���	�� 	� 	�� �7���3 �� 	��� ����� 	�� 
��	� �� 	�� ����� ������ ������ ��

��� ��� 	�� ������	���� 9������ ����	��	� ����� �	 �� ���2 ��	������� 92
	�� �7��� ������	����3 ��� ����	��� 9���� 	�� ����� ��� �������� ���� 	�� �71
��� ��� 	�� 
��	� �� 	�� �����	�� ����� ������ ������ ���������3 L�
� 	��
���������� ������	���� �� 	�� ����� ������ ������ 9������ �������	3 "��
	�	�� ������	���� ��������� �� 
��� ��� ���
�2 ��	���	�� �	 ��
 ������ <P��1
���	���Q>3 �� ������� 	�� 	�	�� ������	���� �7��9�	� � ������7 9�������� ��
� ����	��� �� 9���� ������ ��� �	��� ������	���3 ��� ��	���� ���������� 	���
	���� 	�� ������ �� �������� 	� 	�� 9���� 92 5
� M0(&N ��� L�������� ��� ,��
�
M/�N3

������ �30� <�> �����	��	�� 	�� ��I����� �� 	�� �����	�� ������	��	��� ��
5� �� 	�� �������	�� F<G> ������3 F���� <01'> 
��� �������	�� ��� �����	��
������	��	���� �� 0�0(�� ����� 0�0(�� ����� 0�0(�� ����� 0�0(�
 �����
��� 0 � 0(�� ����� ������	����23 ��� 	�� �������	��� �� �7��� 	�������� ��
03'�� <� 	2����� 	�������� ��� ��	��� 5�E� ���:���	�2 ���� �� 5F$> ��� ��
	���� �� ������� ������� 
��� �������3

+� ��� ��� ��� �� 6���� �30� <�>� 	�� F<G> ������ ��� �	��	���� ���
����	�� �� 	�� �����	�� ������	��	��� �� ���������3 "�� ������������� ��.�

������ ��� ���
� �� 6���� �30� <9>3 @��� 	�� ��I����� �� ������ �������	�
�	���� �� � ����	 �� 	�� ��.�
 1���� ����	���� 	� ���� ����	��� 9��� 
����
	�� ���� �����	��� ���������3 "��� 9�������� ������2 �7������ 	�� ������ ��
	�� ���1����	���� 9�������� �� 	�� 5F$ ���	���	3 ��	 �� ������ 	��	 ��
5F$ ����� �� �������� �� 	�� ��������	��� ������ �	 9��� G0 <��� 6����
�30� <9>> ��� 	��	 	�� 	�� �� ����� ���	�������2 ���� � ��
 ����� ������
<��R0 � 0(�� ����> ��	� � ���2 ���� ����� ������ <��R0 � 0(�� ����>3
,2 	��� ���������� 	�� ������������� ���� �� 	�� ��.�
 ������ �� ����	��
	� 	�� ����	 ���� ��
 	� ������ 9��� ������3 5���� G0 �� ������2 �� 	�� ���	
���� ���� �� 	�� ���� <0>� 	�� ��.�
 ������ 
��� �������� ����	�������23 ��
���	���	� �	 9��� ����	��� G) 	��� �� ��	 	��� 9������ G) �� ����	�� �� 	��
����	 ���� ���� �� 	�� ���� <0> ����	���3 ����� 	�� ��.�
 ���� ����������
����	��� G) ���� 	�� ���	 �� 6���� �30� <9>� 	�� 5F$ ������ 
��� �������� 
�	�
������3 +	 G)� 	�� ��.�
 ������ 
��� ���� � ��7���� ��� 9�2��� G)� 	��
��.�
 ������ 
��� ��������3 E��2 �� 	�� 9��� �� ����� ������� �� 	��	 	��
������ �� ������ ��Æ����	�2 ���� ��	� �����	��� <G'>� 	�� ���� 
��� ��	 �����
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����	��� G' ��� 	�������� ��.�
 ��������� ���� 	�� 
���� ����� �� ������
������	��	����3

J���	�	�	����2� 	��� 9�������� �� ���� �����2 �� ��.�
 �� �������	�� �� �
����	��� �� �� 	����� 	�� ������ 9��� �� ������	��3 +� ��� ���������	����
����2 ��� �1 ��� �1	2�� ������� ��� 	�� ���� �� 	�� 5F$ ��	��	 ������ ��1
����� �� 	�� ����� ��8��	���	 �� 	�� 9���	 �� ����1�� �����6��� 
� ��������
	�� �9����	� ������ �� ��.�
 ��� �����������3 ������ �30� <�> ���
� 	�� ��1
���	 �� ��� �������	���3 "�� ����� ��9��� ���������� 	� 	�� 9��� ������ ������
92 ����
� �� 6���� �30� <9>3 �� 	�� ������ �� ��Æ����	�2 ���� �� ��������	���
<����� G0> 	�� 5F$ ������ ��������� �7�����	����2 
�	� ���������� ������3
��� ���� ����	��� 9��� <G!>� 	�� 5F$ ������ ���
� � ����� ��7���� ��� �
������ ������	��	��� ������ ��R0 � 0(�� ����3 "��� ��7���� ����	� 	�
������ ������	��	���� 
��� 	�� ������ �� ������ ������ ��	� �����	��� <������
G�� G)>3 �� ����	���� 	�� ������ ��
� ���������3 +	 � 9��� �� G' 	�� ��.�

��7���� �� ������2 9�2��� ��R0 � 0(�� ����3 L�
 	�� 5F$ ������ ��1
������� ����	�������2 �� 	�� 
���� ������ 9�	
��� ��R0 � 0(�� ���� ���
��R0�0(�� ����� 9�	 �	 �� ���� ������� 	��� �	 9��� ����	��� G03 L�	� 	��	
	�� 9���� 
���� <��.�
 ><��> �7��9�	� � ��7����� �� ��	 ����	���� 
�	� 	��
���� ����	��� �� <��.�
 ><
 >3 "�� ��.�
 <��> ��7���� ������ �	 ����1

��	 ������ 9��� 	��� 	�� ���� �� <��.�
 ><
 > ����� 	�� ����� ����	 ���
�������� �����	�������2 
�	� ���������� ������3

"� �����2 ��� ����� �7�������	���2� 
� �������� ��.�
 ������ 
�	� ���
5F$3 ������ �30� <�> ���
� 	2����� ��	� �9	����� �� 	�� ��
 ����� ��9�	��	�3
+����� 	�� �9����	� ����� �� 	�� 5F$ ������ �� ���		�� ��� �����������3 F��1
����� 	� 	�� �������	�� ��.�
 ����� �� �� ����� �15�.5�E�.+� 8���	��� <���
6���� �30�<9>>� 	�� ����	��� �� 	�� ���� �� ����	�� 	� ����	��� 9���� 
����
�� ���9�9�2 ��� 	� ������� ������� ��� 	�� ��� �� � ������� 	�� ������ �
��A����	 ������� 9������ �����	 	��� ���������3 �� ����	���� 	�� ���� ��
���� 9������� 
���� �� �����2 ��� 	� 	�� 	�� �����	�2 M�(�
�����
�
4 ��
�
���� ������
���
�� �� 5( 
���
��� �� ��(N3 "�� ����
� <0���)�'> ������	� 	��
9��� ����	����� 
���� ������ <0���)�'> �� 6���� �30! <�> 
��� ��������3 ,���
����	��� <0>� 
���� �� �� 	�� ���	 �� 	�� ��7���� �� 	�� �������� ��.�

������ ����������� 	� 9��� ����	��� G0 �� 6���� �30� <9>� 
���� �� �� 	��
���	 ���� ���� �� 	�� ���� �� 	�� ��.�
 ����� <0>3 +� ������	�� 92 	����2�
� ����	�������2 ���������� 5F$ ������ �� �9������ 
�	� ���������� ������
�����3 "�� �	��� 9��� ����	���� <��)�'> �� 6���� �30� <�> ��� ���� 9� ����	�6��

�	� 	�� 9��� ����	���� <G��G)�G'> �� ��� �����3 +	 9��� ����	��� <�> ���
<)> 	�� 5F$ ������ ���
� � ��7���� ��� 	�� ��2��� ������ ������ ������1
	��	���� �� 0 � 0(�� ���� ��� ! � 0(�
 ����� ������	����23 +	 9��� ����	���
<'> � ����	���� �������� �� 	�� 5F$ ������ �� �9������ �� ��� �7�������	3
+�	����� 	�� ��������	 9�	
��� ��� ����������	� ��� 	�� ������ �����
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�� �����������2 ���� ��� ���� 	�� ���������9���	2 �� 	�� 5F$ ����������	�
��� ���������9�2 �������� ��� 	� 	�� ��� �� ������	��� ������� 	��� M0!N�
	���� �� �	��� � ���9�� �� ���� ���9����% ����	� �2�	���	�� ����������	� ��
��.�
 ������ �� 	�� ��A����	�2 ����� ��2��� �� ��� 	��	 ������ ���� ���
�
	��	 	�� ��	����� ����� �� 	�� ��.�
 ������ �� � ����	��� �� ������ �����	
9� �7������� :���	�	�	����2 �� 	���� �� �����	��� $E5 ������3 $��	 ���9�1
9�2� 	�� ������	��� �� � �15�.5�E�.+� 8���	��� �� � 	�� ����� �����7���	���
	� ������9� 	�� ������	��� �� 	�� ������	��� ������� 	��3 5������ ���� ������
9� 	���� �� �������� 
���� 9�	� �1	2�� ��� �1	2�� ������� �7��	3 �� 	�� 9���
�� ��8��	�� �� � 
�2 	��	 	�� ������ �� �� ��������	��� �� 	�� �1	2�� ��������
�	 
��� 9� �� �����	��� �� 	�� �1	2�� �������3 +� � �����:������ 	�� ���	���	
�� �������� �� 	�� �1	2�� ������ ��� ���� 	�� ������ 
��� 9� �����3 $��������
	�� ���	���	 9�������� �� 	�� ������	2 �� ��18���	���� 
��� ���9�9�2 ��	 9�
������	�9�� 92 ������ ������3 M3 3 3 NQ
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������ �30�% ��� ���$������ ��/� $�	��� �� �� ����� ����K��)�K�� ;��$���� ��	���
�C�2� 
�	� $��$������ ��	 �$$����	 $��$���	������ �� C� C3�� $���# C� C3�� $���#
C� C3�� $���# C� C3�
 $��� ��� C� C3�� $���# 	����$�����= ��� ��		���������
��K�� $�	��� ,"� =��*�� �� �"� ��K�� ���� 
�� %����� ��	 $��������$� �$�
��K�� ������� �� � ���$���� �� �� ��	 ��7�	��� ���� ������ �� �������� 
��" �/C�
/2� �� 6��	� ��� ��� ,=��$�� ��K�� $�	�� �����	�� 
��" ��	 ��� ,"� �		�
�
�������� 
��" �C#A#1#2� ����$��� �"��� ���� ������# �� 
"�$" $�	��� �C#A#1#2� �� 6��	�
A CE �$� 
�	� ����� ��� $�		������ �� �"� ���� ��������� �/C#/A#/1#/2� �� ��	
$��$������� 
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�� 	��� ����	��� ��E� �� ��	������� �� � ���� :����	2 ������	��� ��� 5F$3
5F$ �� ��	 �� ���2 ��� �	�����	���
��� 	�����:�� 	� ���3 J���	�	�	���
���������9�� ����������	� ��� � ������� ���9���� ����� 	�� �������	��� �� 	��
������	�� ��:����� �� 	�� ������ ������� <�� 	� ��
 �7��������2 5�E�> ��� �
�����	�� ��I����� �� 	�� �����	�� ���������2 �� ����� ���	����� ����������	�3
L�	��� 5�E�� 
���� ����� 
�	��� ������� �� 	�� �� � �������� ���� ��	�� 	��
5� ������ �� ������� �� ��9���	 ��� �� ���2 � 9�� ������ ��� 5F$ ��� 	� �	�
���������9�� �7��� ������	���3 "�� ���2 �7��� ������� ��� � 9�� 5�E�15�
��	������ ���� 	� ���	�9�� 5F$ ������ �����	���� M0 N3 E� 	�� �	��� �����
�	������ ���� 	������	��� �����	���� �7���	��� 2����� �7������	 �7��� :����	2�
9�	 �����	 9� ���� 9������ �� ��������� �������� 	�� ���2 ���� �7���	���
	������	��� <&(( ÆF 	� 0!(( ÆF> 9������� ��� ������ ���6��� �� ���	��2� 	��
������� ������	��23 "���� ������� ��
 	������	��� �7���	��� ��������� ����
	� 9� ����3 +� �����	�� �� ��	���	���� �������9�2 ���� ��
 	������	��� 5�E�

��2��� ��� �9	����� �� ������� �������� 
�	� ������ �����2 M��� '0N� �����
�� 92
� ��
 	������	��� �7���	��� �� �� ���� M0&� 0((N3 +�	����	����2� �������	���

�	� #G ����	 ��� �����	������ �7���	��� 	������ ��1��	� ������	�� �
���
M)/N� �� � ���9���	��� �� 	���� 	
� ���������� M00(� 00&N� ��� 9� �����2��3
+��	��� �����9���	2 
���� 2����� 9�		�� �7��� :����	2 	��� ��	��� �7��� �� 
�	
�������� �7���	��� ����� ��:��� �7������� M0 N3 +�	����� ��
 	������	���
�7���	��� ��������� ��� ���� ������ �� ���2 ����� 
���� 8��	 :����	�	���

 /



������	 �� ��	������ 
����
� �� 
������	�� ��	 ���  &

0

5

he
ig

ht
 (

nm
)

500 × 500 nm
topography

0

4

S
C

M
-S

ig
na

l (
V

) 500 × 500 nm
SCM

a) b)

������ )30% '���$� �� ���$�	�$"���$�� �*������� �� �"� �����	��"= ��� �"� ���
������ �� ,"� "���"� �� �"� "��� ���	 �"� $���	� �� ����� C E �� �� ,"�
��� ������ �� �"� ��$����� �� �"� "��� �� ���� �"�� C3P �� �"� ����� 
��"���
���$�	�$"���$�� �*������� 

5F$ ������� ��� ��:������ 	���� �� �	��� �� �����	 ���� ��� � �����9��� ��
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9� ���� 	� �����	���	� ���� ������7 �������� 5F$ ����������	� 
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����	��� ����	��	� ��� 	� 9� 	���� ��	� ������	3 ����� 5�E� ��� � ������	���
����	��	 �� ��� R �3&� ��E� �� � ����1� ��	����� 
�	� � ������	��� ����	��	 ��
��� R !(3 ��� � �����	 ���������� 
� ��9����	�� ��E� 6��� ������ 	�� ����
�E" �� 	�� 5�E� 6���3 ��� 	�� 5�E� 6��� 
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��������� �� 	�� �A��	%
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�F ���	���� ��� �� 	�� ������ ������3 L�	� 	��	 	�� I�	 ������	��
����� ����� � ��7���� �����	��� ��2�� 
��	� �� �9��	 0 �� �	 �
������ ����� �� 0 � 0(�� ���� <M/�N� ����  )>3 ���	�������� 5F$ ��
���2 �����	��� 	� ������ ����
�� ����������
�� ��� ��	 	� �����	�� ��
����	�� ������	��	���3 "��������� ��� ���	��� �����	���� ������ ��
5F$� ��� ��� ������ � ������� ������	��� �� �����	 ���6���� 	��	 ��
���� 	���� 	��� 	�� 	���������� ������	��� �� 5F$3

��� 	���� �������� 5F$ �����	 ���6���� <�3�3 �����	���	���� �� ��18���	����>
�� ��	 ����	�� 92 	�� ��� �� ��E� ���
��� � ��7���� ��	���� ���	��� ��
�
�� �( �� ��� � ��������� �� ! ��3 �� ���	 ����	���� ����� 5F$ ���
� ��
�A��	��� ��	���� ������	��� ��� ������ ���6���� 	��	 ���� ��	 ���� 9���
 �( ��3
���	�������� ��� ���2 �������	���� 	�� ������� ���� ���2 ���� ����� ��� 9�
	���� 	� ��	 	�� 
��	�� �������	���3 ����� ��� 	�� 	��������2 �������
������	���� I��	��	���� 
��� ������ ��	 �� ������� 
�	���	 ��	�������� �	���
����	�	���� ��	� 	�� ����������	3 L�	� 	��	 	�� ������	��� ������� ��2 9�
��	���
�� �� 	�� ��	��� 	� ������ ��2�� ���������3
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+� ������2 �7������� �� ����	�� )30� ��E� �� � ���� �1��	����� 
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+ 	���������� ���� ���� � �� 	�� �	������ 5�E� ���� �� ���
� �� 6���� )3/ <9>3
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3 V

8 scans

������ )3*% ����� ��	 ���$�	�$���= ��	������ �"� ������� ,"� $����$���� �!� ���

�� �$����� O ����� ���	 � �	�� �� 233�233 ��� �� � ��� ������� �� A/ 

+������	�2� �� 	���������� ������2 
�� �9������ �� 	�� �������� ������
�� 	�� 5�E� ������3 +� ��� ��� ��� �� 6���� )3/ <�>� ��E� 	���� ��	 	� 9�
�������	��� 	� ����	����� �	����3 E��2 � �����	 �������� �� 	�� 5F$ ������ ��
�9������ �� 	�� �	������ ������3 "���������� �����	���	���� �� 	�� �	������
������ �� 	�� ��E� ��2�� ���
 � ������� ������� 	�������� �� 	�� ����� ��
03' ��� 
���� �� ���
� �� 6���� )3/ <�>3 E9������2� 	�� ��E� ��	����� 
��
������ 92 	�� +�$ 	�� ������ 	�� ���	���� ������ ��� �� � �����:������ 	��
	�������� �� 	�� ������	��� ��	����� 
�� ������� ��� �� ��������� 5F$ ������

�� �9������ �� 	��� ������3 E�� ��� �7����� 	�� ������ �9������ �� 	�� ��E�

��2�� 
�	� � ��
�� �������� �� ��E� �������� 	� 5�E�3

%���� +��'������ �� '�03�������� +�!���� ����  �(�

��� 1�(�

"� ������	��	� 	�� �	���
�	��� �� ��E� �� � ������	��� ��	����� ��� 5F$ ���1
���	�� ������ ����2���� 5F$ ������ �� � ��18���	��� ������� 
�	� 5�E� ���

�	� ��E� 
��� ��������3 "�� ��18���	���� 
��� �������	���� 92 ��� ��1
����	�	��� �	 +��	��� $���� 52�	��� ��	����	����� +� <+$5> 92 ������	���
� �����2 ��	����2 ����� 9����� ��2�� <�� � 0�0(�� ����> ��	� � ��
 9����
����� ������� 
���� <�� � 0�0(�� ����>3 "�� 
���� ��� 	� 9� ������� �����
	� 	�� ����������	�� 	� �7���� 	�� ��18���	���3 ,����� 	�� ���������� ��
	�� 5F$ ������ �9	����� 
�	� 	�� ��A����	 �7����� 	�� 	��19��� �����	�����
����� 
���� 	�� ������ 
��� 	���� ���� 	� 9� ��������� 9���I2% + ����	����
���������� �� 	�� 5F$ ������ �� 	�� ������ ����� �� ���2 �������� �� 	�� �F
	�� ���	��� �� ��8��	�� �� � 
�2 	��	 	�� 5F$ ������ �� ������� �� 	�� ��
��	
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������ )3/% �� ��� ����� �� �"� ��	����� 	����� �� � ��)� $���	�� ������# �"�
�$�� ���� �� 2�2 ��� �� ,����	��"�$ ��� ��� �	�6�� ����� ����� ���� 4 �� �� 
,"� $"�	��� �	�� �� $���	�= ������� �� �"� ��� ������# 
"�	��� �"� �����	��"=
�"�
� �� ������� ��%���$� �� ��	������ $� ��� ����� �� �"� ��	����� 	����� �� �
0	)� $���	�� ������ �� ��		��������� �����	��"�$ ��� ��� �	�6�� �� �"� 0	)�

������ ����� ����� ���� 4 �� $� )��= �����	��"�$ ��
�	��� ��� �� ��	����� �����
	��� �� � ����"� ������ "���"������ 

����� ������ �� � ������ 
�	� ������ �������	� 
3 +�8��	��� 	�� 	�� 9��� ��
	��� ������� 
�2 2����� 	�� ������	 5F$ ������ ��� 	�� ��
��	 ����� �������
<����� 	� ����	�� �3' �� 	�� �������� ��	���� M0('N>3 "���� � ���������� 5F$
������ �� �9	����� 
�	� ���������� ������ ������	��	���3 +� � �����:������
��
����� 5F$ ����������	� 
�	� 	���� ������	��� �� � ������ �� ������

�	� ������	� ������	2 
��� �����	 �� � ���2 ��
 ������3 @�
����� �� 	�� �����
���� �� �� 	�� ������	��� �� ��E� ��� 5F$ ����������	� ��� ��	 �� � ��1
	����� ��18���	��� �������	��� M0!0� !&N� 	�� 	�� ���	��� 
��� 
�� ��	���
�� �	
����	��� 9��� ��� ��7���� 5F$ ������ �� 	�� �1����� 9��� ������ �������
��� ��������	23 +�8��	��� 	�� 	�� 9��� ��� ��7���������� �� 	�� �1	2�� ������

�)�� �1 ������� ���	� ��� ��	���� 415 �
���� ����	� ������ ��� �� �
'�� �� �
��
��� ,������ ������� �� ���� ��	�
����	 ������ ����� )�� ���
�
�� �� ��� ,������ �������
��� ��� ���
�
�� �� ��� �
����� ����� �� � 12!3 ��	�� �	� �
7�	���I *���	 �� ������	� ���� �
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������ )3&% �� ��� �� ��� ������ ����� �� � 0	)� ��� � ��)� $���	�� ���
;��$����# 	����$�����= ,"� ���;��$���� 
�� �*����� �= $������� ,"� 
���	 ��	��$�
�� �� �"� 	��"� 

:����	�	����2 2����� 	�� ���� �����	�3 +� ��� ��� ��� �� 6���� )3& <�>� ���2
���� 5F$ ���	���	 �� �9	����� ��� 	�� ��� ������	�� ������ �� � ������ 
�	�
� 5�E� ��2�� �� ������	��� ��	�����3 "�� 
���� ������� �� �� 	�� ����	 ����
����3 "�� ��� ������	�� �����2 �1����� ������ �� ����9�� �� ����� �����2 �� 	��
��1���	 �� 	�� 5F$ ������3 "�� ����� ��18���	��� �� ����	�� �����	�2 �����1
���	� 	�� ������ ������� ��� 	�� ��
�� ��18���	��� �� �9������ �� 	�� ������
9�	
��� 103 �� ��� 1!3) �� 9���
 	�� �������3 �� 
� ������� 	���� ��	�

�	� 	�� �����	� �9	����� ���� � ��E� ��2�� ������� ������ ���
� �� 6����
)3& <9> <��E� ��2�� ������ 	�� ���� �E" �� 	�� 5�E� ��2��>� ��� ��� ���
	��	 ��E� ��� �����	� �����2 
�	� 	�� 5�E� ��2��� ���������� ���	���	 ���1
���	���3 ��� 	� ������ ��
��	�� �����	���� ���� 	�� 	�� 9��� 
���� �� ������
	� ��7���
� 	�� 5F$ ������ �� 	�� �1����� 9��� ������ �� 9�	� �������� 	��
���	� ���6�� �� 	�� 5F$ ������ �� 	�� ������ �� 	�� ��18���	��� ����� � ��		��
9�	 ��A����	 �� 	�� 5�E� ��� ��E� ������3 �	 �� ���
�� ��
����� 	��	 	��
	�� 9��� ��� � ��8�� ��I����� �� 	�� ������� ������	��	��� �� 	�� ������	2 ��
��18���	���� ��� �����:���	�2 	�� �������� 8���	���1����	���� ���� �� 6����
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)3& <�> ��� <9> ��� ��A�� M!&� / � /*N3 "��� ���� �7������ 	�� �����	 ��A�������
�� 	�� 
��	� �� 	�� �1����� �����2 ������� �� 6���� )3& <�> ��� <9>3
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�������� ��� 9��� <��,> 	�����:��� ��� ����� 	�� ���	 �����	��	 	����
��� �	���	����� �� �������� �� 	�� ������	�� ������3 "���2� ��, �2�	���
��� �����2 ���� ��� ������ ����6��	��� M0(!� **N� 	����������� ����	��� ��1
�������2 <"�$> ������ �������	��� M)�� 00'N� �������� ���9� ���������2
<5?$> 	�� �������	��� M �� /'N� ��� ������	��� �� ��A����	 ��	��� ��� ��1
����	��� M* � 00/N3 @�
����� 	���� ��� ���� �A��	� 	��	 ����	 	�� ����� ��
��, ����6��	��� 	� ���	��� �������	���� ��� ����� ������ M !N3 "���� �A��	�
��� ������	�����2 ������2�� �� 6���� '303 + ���2 ������� ���	�� ��� ��� ��,
�������	���� �� 	�� ��� 9��� ���6�� <6���� '30 <�>>3 ��Æ���	 	� �������� �	
��6��� 	�� ���	��� ������	��� ��� 	�� �������	 �����9�� ��
� �� � ��, ����
�	���	���3 E�� ��� 	� ��2 �		��	��� �� ��, ����6��	��� 	���� ����� ���� ���1
��	��� �������� 
���� �� �����	��	�� �� 6���� '30 <�>3 ��	���	��� ������	�� 	��	
	�� ��� 9��� ��� 9� �������� ������	��� �� 	
� �������% 	�� ���� ��	����	2
���	��� 9��� ��� 	���� �� ���2 ��
 ��	����	2� 
���� ����� � ���� 
���� ����
M*'� *� & N3

+��	��� �����	��	 �����	 �� 	�� �����	 �� ���� ������	�� ��	� 	�� ������
��� 	�� ����	�� ���������	��� ��� ��2�	�� ������M*/N� 
���� ��� 9� ���� ��
'30 <9>3 ��������� �� 	�� ��������	��� ���	���� 	�� ���� ��� ����	��	� �����2
��	� 	�� ������ ��� ���		����� ����� 	� � ���	��� ��	���� �	��������3 "�����

/�
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������ '30% ��� ,"� ��$����� ��� ���� �	�6�� $������� �� � "��" ��������= ����	��	
��		������ �= ��	�� ���� ����� 
"�$" $�� �� "�	� �� ����$�� ���	 � ��$����� 
"�	�
!'9 �������� ������ ����6$����� ����� ���$� ��� ���������� �� �"� ��� 	���� ���
������ ����	������� ������ � ������ ,"� ���������� 
�� ��	��	��� ����� �"�
�	��	�� ����
���� 

��������2 �A��	� ���� �� �������� ����������� ��� ���1��1�����1�����	� ��	�
������	� 	�� ������	�� ������ ���� ��� 9� ���� 
���� 	��� 	�� ��	��� 9���
����� ��� �7	��� ��� ��	� 	�� ������3 G������ ��	���� ���� �� ��������2
��� ���� ����	������2 <5�$5> ��� 	����������� ����	��� ���������2 <"�$>
���� 9��� �	���
�� 	� ������� ����	��	��� ���	�� ��� ���6��� �� ��,�3 @�
1
����� 	�� ��������	��� �� 	���� ��	���� ��� ��	��� 	���� ���� �� !� ���	���
������	��� �� ��Æ���	 ������ �������	���3 ��� 	��� ������� �������� ���9�
	�����:��� ���� �����������2 9��� ������� ��� ��, ���6�� ��	������	��� M &N
��� ������� �� �	��� ��� 9��� �������	����M00)N3 "���������� �	���� �����
���������2 <+�$> �����	���	���� ��� 2���� ���� ������	��� ��	� ���� ��, ��1
����	�� ���	� ��� 	�� ��9������	 �� ���������
�� ����� ��� 	� 	�� �����	�2
��
�� �����	2 �� ��������� �������M!�N3

@�
����� �	 �� ���
� �� 	��� 
��� 	��	 5F$ ��� ��	��	 �����	���� �������
������� �� ��	����� �������	��� 	��� ��2 �	��� ��	��� ��� �	 �� �����9�� 	�
����� �� ����� :���	�	��� �� 0( 1 0(( ������	2 �	��� ��� ��9�� ������ <0(�� 1
0(�
 ��� ���>3 ����� ��,1����6��	��� ���� ��	 ��	�� 	�� 	��������2 �� 	��
������ �� ��	����	� �	 �� �	��� �����9�� 	� ��	 �����9�� ��	� �� 	�� ��, �������
����� ��� 5F$3 �� ����	�� '3) 5F$ �� 6��	 ���� 	� ��	������ 	�� ����� �� 	��
��� 9���3 F���	�� '3' 6����2 ����� 
�	� 	�� ������ ���	� ��� ���	��9�	���
�� ��, ����6�� �����3
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������ '3!% �$"��� �� �"� ��� $����� ,"� ��� ����$� �� ����� �����= �� ���$�	�$
6���� �������$ 6���� �	� ��� ������� �� �"�� ������ 

'�
 �
� ���"���� -�� ��� �/��� 

������ � �������� ��� 9��� <��,> �2�	��� ���� ��� ��������	�� 	� ���� ��������
��� 	��� �������� 	� ���	 ��
�� �� � ��
 ��3 "�� ���� �������� ��� 	�� ���2
����� 9��� �����	�� ���� �	 �����9�� 	� ������� ��9�	���2� ����� ���		��1
��������� 
�	� � ������	��� 9���
 0(( �� M/(� *�N3 "�� ���� ��� �7	���	��
��� ��������	�� ������ 	�� 
�� ������3 ������ '3! ���
� �� �����	��	���3 ��
	�� ��, �2�	�� ���� ��� 	�� �����
��� �����	���	���� ��� ���� ��� �7	���	��
���� � �� ������ ����
�� �
��
� ����� 
�� ������ <�$�5>� 92 ����� ����	���

�)�� ����
��� �	���	�
�� �� :� �	� ��	� ������������ ��	 ����
���
��� 
��
�� ���	�
�
�� ������ 26%!3 �
�
�����= &
	��� ��� ��	� ��� ����
�� ��
�� �� ��Æ1 	�
�
	�� ����
�
�
��� ����
�� ��� �����
���� �
�
��� ���� �	�����	 �� ��� 
�� ���
��� ��
�� 	������
��� 	
�� �� �
���
������� 4������ :� ����� � ��	� �
�� ��
�
�� ��
�� �� ���� Æ1 ��
��
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(a) (b)

������ '3�% �����6$����� �� �"� ��5��� ����� ��� ���	$� ���� �� �"� !'9 �=���� 
'� 	�����= �"� ���� �� �"� ��� ���	$� �� ����� R �� ,"� �� 	���	���	 �� �"� ���$�6$
����� ���� ��	 �"�� 
�	� ����� ��	 ����� C333 "��	� �� ���	����� 

6����3 "�� �$�5 ���
� �� 6���� '3� <�> ������	� �� � ���� �� �� ���������
��� � ����� ��� ���� ��	 �� 	����	��3 "�� ���2 ����� 	�� �	 	�� ��� ��
	�� ��� �� �2��������2 ����	�� ������ �����	��� ��� 	� 9���1���		����� ��
	����	��3 �� '3� <9> � �����6�� ����� �� 	�� 	����	�� ��� �� ���
�3 "��
	����	�� ��� �� ������� 
�	� � 	��� ��2�� �� �� ���� 	�� ���������3 "�� ����
����	��� 6���� ����� 	�� �� ��2�� �� 	�� ���2 ��� �� 	�� ��� 	� � �� ������
6����� ���� M&�N� 
���� 	�� ��� ���� 
��� 9� �7	���	�� 6����23 "�� ������
��� 	�� �A��	� 	��	 ���� 	� 	�� �����	��� �� 	�� 	����� ���� ������	�� 	��
�7	���	��� �� ��� ���� ���� � ���2 ����� ���	 ��
�� 
���� �� �����	��� ���
������������� � �������� 9��� �����	�� �� 	�� ����� �� 0( ��3

+�	����� 	�� ��� ������ ���	������ 	�� ��� ��	��� �� ��	������ ��� ��
��������	��� ���	��� �� '( �G� �	 �� �����9�� 	� ���2 	�� ��������	��� ���	���
9�	
��� ' �G ��� '( �G3 "�� �����	��� �� ����� ��
�� ��� �������� 	���
'( �G �� 	��	 	�� ���� 
��� ��	 ����	��	� 	�� ��� ��	� 	�� ������� 
����
�� �����	��	 ��� �����	��� �������3 @�
����� 
�	� ���������� ��� �����2
	�� �9���	2 	� ����� 	�� ��� 9��� ��������� ����3 "�������� 	�� �������9��
������	��� �� 	�� ����� ���		�� ������� ���������3

"�� ��������� �7	���	� � 9���� ��� ��� 9��� <����2> ���� 	�� ������
<6���� '3!>3 $��	 �� 	�� ���� 
��� 9� �9���9�� 92 	�� ����� ��������� 
����
�� ���� 	� ����� 	�� ��� 9��� ��	����	23 "�� ���������� ����	����	� 	�� ���
�7	���	��� ��� �� ���� 	� ��8��	 	�� ��� ��	����	2 ��� �� ��	��� ����9��� ����
	�� ����2 ����	���3 "��� �� �� ���� �����	����� 9������ 	�� ��� ��������
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���� 	�� ������ ������� ������ �����	���3 "�� ����� ����	��� �� ���� 
����
��� ��	 �9���9�� 92 	�� ����2 ����	��� 
��� 9� �������� 92 ���� 3 ��� ����
+3 ���� 0 �� ���� 	� ����� 	�� ��� 9��� �� 	�� ���� �
�
�
�� ��������� 
����
�� ��������9�� ��� ���	��� �������� 	�� 9��� �����	�� ��� ��	����	23 E��
��� ������ 9�	
��� ��A����	 ����	��� �����	���3 "�� ������� 	�� ����	���
�����	��� 	�� ������� 	�� 6��� 9��� �����	�� ��� 	�� ������� 	�� 9���
��	����	23 L�	� 	��	 	�� 9��� ����	��� ����	��� ��� 	� 9� �������� ����
	��� 	� 	��� 9������ 	�� ����	��� �����	��� 
���� ������ �����	��� ��� 	�
���		�� ��������� ������� 92 	�� ��� 9���3

"� ������ 	�� �A��	 �� ��	��� ��������� �� 	�� ��� ����� 	�� �2�	�� 
��
����	���	�� �� � 
�2 	��	 ������ ��� 	��8��	����� ����� ��	�����	3 "��� ����1
��	��� � ����� 9��� �����	��3 "�� ��
������ ��
� ������	� �� ����	 ��I��	���
����	����� ��� �� ���� 	� ������	 �9����	���� ���� 	�� ����� �2���	��� 9���
�����3

+�	�� 	�� 9��� ��� ������ 	�� 9��� ����	��� ����	���� �	 ������� 	��
���� �������3 "�� 9��� 9������ �� ���� 	� ��I��	 	�� ��� 9��� 	� 	�� ����
�����
�� ��������� 
���� 	�� 6��� 9��� ��	����	2 �� ��������3 #����� 	��
9��� �� 9������� �	 ������� 	�� �� ���
�� ���������� 
���� ��� ���� 	� ����
	�� ��� 9��� ���� 	�� ������ �� � ������� 
�23

"�� ����
��� ������� ����� �� ����	�� �	 	�� 9�		�� �� 	�� ��� ������
��� �� ���� 	� ��	��	 ��������2 ����	���� �� ���� 
���� ��� ���		�� 92 	��
������ ���	 ��	 92 	�� ��� 9���3 �� 	��� ������� ������ �� 	�� ������ ���
9� �������� ������� 	� �������� ����	��� �����������3

��, �2�	��� ��� ��	 ����	�� 	� �����2 ���		����� �
�2 ��	�����3 "�� �����
�� �������	��� ��� 9� ���	��� �7	����� 92 ����� ��A����	 ����� 	��	 �����9
	� 	�� ������ �������3 �	 �� �����9�� 	� ������	 �����	���� ����� �	����� ���1
������ ������� 	� ����	��� ��� �	����� <B��>3 +��	��� �����9���	2 �� 	� �����
�
��	����� ���� �� �������� ������ ������	��� <FG�> ��������� <��� ����	��
)3!3� ��� ���	��� �������	���>3 @�
����� �� ���	���	 	� ������	����� FG��
	�� �����9�� ��������� ����2� ���2 �� ����	���� 
���� 	�� ��� 9��� ��	� 	��
�������� ���9���� ���2 ����� ��	����� ������	��� 
�	� � ������	��� ���� 	��
�������� ��� 9��� �����	��3

'�! �� ��� 1���������� ��� �&���� ����� ���)

�����������

+� ������� �1����� ������� 
����� 
�	� �� �����	�� ������	��	��� ����R&")�
0(�
 ���� 
��� ����3 ������ ��,1����������� ��� ���� <�����	���> 
��� ��1
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����	�� ��	� 	�� ������3 "��������� �1	2�� ������� 
�� ������ 	� ����� ��2
����	����� ��Æ���	��� �� ��	� ��	�����	�	��� ��� 	� 	�� ���2 ������7 ����	��1
��� 9�������� �� ��18���	����M!&� / � /*N� 
���� 
���� ������ 
��� �1	2��
����������	��� 
��� ����3 "�� ��	��� ��
 �����	�� ������	��	��� �� 	��
9��� ��	����� 
�� �� �����	���� 9������ 5F$ 2����� ������ ������� �� ��

����� ����������	��� <����� 	� 6���� !3*>3 "�� ������� 
��� �������� ��
	
� 
�2� 	� ��	�� 	�� ��A����	 ������� �� ��, ����� ��� ������ ���	�
��	������	���%

"�� ���2 ����� �������� �� ������2 ������� ������� 
����� 
��� ���� ���
	�� 9��� ����� ��	������	��� �� ����	�� '3)3 E� 	�� ������� ������� 6��
	2��� �� ���	� 
��� ���� 
�	� 	�� ��,� 
���� ��A���� ���� ���� �	��� ��
	�� ������	�� ��� ���� <(3(!'� (3('� (30� (3' ��� ' �F.���	>3 "�� ���	�

��� ����	�� �� ����� ������	2 <� ��
 �������> �� 	�� 
���� ���� �� ����� 	�
������ ������ 	��1������ �������� ��� 	� ������
� 	�� ����	�� �����	 �� �	��2
������	���� �� 	�� 5F$ ����������	��303 "�� ��������	��� ���	��� �� 	��
��� ���� 
�� '( �G3 "�� ����	��� ��
� �� 	�� ��, �2�	�� 
�� '( �� 
�	� �
����	��	 ��� ������	 �� '( �+3

��� 	�� �����	���	��� �� 	�� ������1���	�� 9���
 ��, �������	�� �����
�� ����	�� '3'� � 	����� 
�� ������ ��	� 	�� �������� ����	 ���� �� � 
����3
"�� ����	� �� 	�� 	����� 
�� 0 �� ��� 	�� ���	� 
�� ! 	� � �� 	� 9� �����2
����9�� �� 	�� ��	���� ����������3 L�	� 	��	 	�� 9�����	 ����	��� ��
� �� 	��
��, ������� �� �9��	 )(( �� 
�	� � ����	�� ��� ������	 �� !' �+ ��� 	�
9� ���� 	� ���� ������� 	���� 	�����9�� 
��� ������� ���� � ���� ��� ����
	�����3 "� �����	���	� 	�� ������� ���� 9���
 	�� 	������ 	�� ������ 
��
�������3 +� �����	��	��� �� 	�� �������� ��, ��������� ������ �� ����� ��
6���� '3)3

5�� 	�� 5F$ ����������	� ��� 9�	� ��, ����� �� 
��� �� ��� ������1
���	� ��	������	��� 
��� ������� ��	 �� 	�� ������� ������� ��������3 "��
+�$1���9�� ���� ��� 	��� �����	���	���� 
��� ������	��� ������� 	���3

,����� 	�� �����	� ��� ������	��� 	�� ���	���	 ��������� �� 	�� 5F$
������ ��� 	� 9� ��������� 9���I23 +� ���
� �� ����	�� ! <���� ����� 	�
M!&� / � /*N>� 5F$ ���	���	 �� � ������7 ����	��� �� 	�� ����������	��C�
������ ������	��	��� ��� 	�� ������� 	��19��� ���	���3 E� �������� �����
������� <�� 	�� �9����� �� ��18���	����>� ��
����� 	�� 	��19��� ���	��� ��� 9�
��8��	�� �� � 
�2 	��	 	�� 5F$ ������ ��������� ����	�������2 <������2 �71
�����	����2> 
�	� 
������
�� ������ ����� <����� 	� ����	�� �3' �� 	�� ��������
��	���� M0('N>3 @�
����� 9������ 	�� �1	2�� ������ 92 ��� ��� ������	�	����
	�� ��2�	������ �	���	��� �� ��, �������	�� ������� �� ������� ������23 ��
�������� ��2 ������ 
��� 2���� � �����	��� �� 	�� 5F$ ������ ��� 	���������
�� � 6��	 �	��� �� �A��	 
�� ���� 	� ���	������� 9�	
��� ������ ���������
��
�� ������� �����3 E� 	�� �	��� ���� �	 ������ 9� �������
�� 	��	 ��� 9���
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������ '3)% '�����	����� �� � !'9 ���� �	��$" �� � ������ 
"�$" �� $������ ����
�
� ���$�� 

����� 
���� ��� �����	���� ������� 	��� 	�� ����������� ��� ������� ���1
�6��	��� <�3�3 �
������ ��� 	� � ������� ��	����� �����	2 ������ ���������
��
�������> ��� ������2 9� ��	��	�� ��� 5F$� 
���� �� ���
� �� 	�� �����
���
����	���3 ,������� �	����� �� 	��� 	���� ���� ���� 9��� ��������� �� ��	���	���

�	� ��	������������2 ��		����� ������� ������� ��	�� ������	�	��� �� �������
<+�> 
�	� �� ��� ������	�� M00)N3

'�% -�� ��� 1��5�� ( �� ��� �� ��)�"�	����

"� ��	������ 	�� 9��� ������ �� 	�� ��, �2�	�� ��� 5F$� ������ ������	�1
	��� ���	� 
��� ����3 ������ '3' <�> ���
� 	�� �����	��� 	���������� �������
�� ������� 
�	� � ������	� ���� ��� ���	 <(3' �F.���	>3 "�� �
������ ���
��9��:���	 ������� ������� ��� 	� ���		����� 
�� ���������� ���2 
��� ���
����� 	� 	�� 	2����� ���	��1���� �	���	����3 "�� ����	 �� 6���� '3' <�> ���
� �
�����6��	��� �� 	�� �������	 ����3 +���2��� ��
�� ��� ����� ����� 	� �������
������ �	���	���� 9������ �
������ ������	�� ���		�����3 ������ '3' <9>
���
� 	�� �����	�������2 �������� 5F$ ���	���3 +� ��� ��� ���� ���2 ����
���	���	 9�	
��� 	�� ��,1����6�� ��� �	��� ������ ����� 
�� �9	�����3 ��
���������� 
�	� 	�� 	���������� ����� ���� �� 6���� '3' <�>� 	�� �����	�1
������2 �������� 5F$ ���	��� �� <9> ���
� � �����6���	�2 ������ �������
������3 "�� �����	 �� 	�� ��� �������	��� �� 	�� ������� ������ ��� ��
 9�
���� 	� ������� 	�� ��� 9��� ������3 @�
����� 	��� ����� 	� 	
� �����9��
��6��	���� �� � 9��� ������ ����� 	���� ��� 	
� ��A����	 ��������� 	� ���
�������	���%



������	 �� ��� ��
���
 
����� �����������
 �� ��� &(

(a) (b)

Topography

1000 nm

L

0.5 pC/spot
380 nm

FIB

SCM

1000 nm

L

0.5 pC/spot

FIB

������ '3'% ��� ,"� �����	��"�$ ����� �� � !'9 �		������� ���� �"�
� � $	���	
���� ��	�$��	� ,"� ����	� �"�
� � �����6$����� ,"� ���� ��	�$���� �� ����$���� 
��� ��		��������� ��� ����� 

� ����	� ��� ��� ���� �	 ��� ������� ������� �� 	��������2 <6���� '3'
<�>>3 ��������� �� 	�� ��� ����� 	�� �������	�� ���	� ��� ���� ����
���	��� �� ��������3 "��������� 	�� ����	 
���� 	�� ��	�� �
������ I���
<���	��� ���� ���� ����� I����� 	��� ����� I���� ��� ��	 �� ��	����	
����> ��� ��������� 	� '( V 
�� 	���� �� 	�� ��	���� 9����� �� 	�� ��,
������� �	���	��� <	��� �� ���
� �� 6���� '3 <�>>3 "�� �������������
������ �� 	�� 	���������� �	���	��� ��� ��9��:���	�2 	�� 9��� ������
�� ����� !����3

� 5������ ��� ��� 	��� 	�� 5F$1������ 	� ��6�� 	�� 9��� ������ !��� �

���� �� ���� 	�� ���	���� 9�	
��� 	�� ����	� 
���� 	�� 5F$ ������
I���� ���� 	� ���� �� 	���� ��7���� <6���� '3 <�>>3

"�� 	
� ����� !���� ��� !��� ��� �������� �� 6���� '3 <�>� 
���� �����
���	���� �� 	�� ��, �������	�� ����� ��� ���		�� ����� ���� � �� 6���� '3'3 "��
��A������ 9�	
��� 	��������2 ������ ��� 5F$ ������� W! R !��� �!�����
�� !'� ��3 ������ '3 <9> �������� 	�� 9�������� �� 	�� ����� !���� ���
!��� 
�	� ���������� ���� ��� ���	3 "�� ����� ���
 ����	���� ���
	��
��
����� 	���� ��� ��	���	��� �A��	� �� 	�� ���� ���� ������3 �� ����	����
9�	� ��	� ��	� ������� ��� 9�� ��� �����3 ������� ��� 	�� ��
��	 ���� 	��
��� �������	�� ���	� ���� 	
��� 	�� ������ �� 5F$ ���� 	��� �� 	��������2
����� ��� 	�� ������	 ���� 	��� ��	�� �� �����	 ����3 E�� �9�����	���� 	��	
	�� 5F$ 9���� 9��� ������ !��� �� ��
�2� ������ 	��� 	�� 	����������
������ !����� ��� 	�� �A��	 	��	 !���� ��� !��� ������� ��� 9�� ��� �����
��� 9� �7������� 92 	�� �����
��� ���	�%
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������ '3 % ��� ������ $	��� ��$����� �"	���" �"� �����	��"�$ ��� ��� �����
����� �"� ���� 4 	���� ��� 	��� ��6�� �"� 	����� �� ������ �� ���� �� �"� �����
�	��"�$ ��� �"� ��� ����� ��� 	���� ��� 	��� ��	��� ��� ���� ��	 �		�������
���� 

����	� �� 
�� ������2 ��9������ M*'� *� & N 	�� 9��� ���6�� ������	� ��
<�	 ����	> 	
� �������% "�� ������ ��� �
�2 ���� 	�� 9��� ���	��� 
���� 	��
������� ��	����	2 �� ���2 ����� 9�	 ����2� ���
�23 "�� �	��� ������ �� ����� 	�
	�� 9��� ���	��� 
���� 	�� ��	����	2 �� �������9�� 
�	� 	�� 9��� ���	�� ���
��� 	�� �	�����	 ����23 �� 6���� '3* � ������ �� 	�� �7���	�� 9��� ������
�� ���
�3

5������ 5F$ �� ���� ���� �����	��� 	� ��� �������	��� �A��	� 	��� 	��
	���������� ������� ����� 	���������� ������� 92 ���������	��� ���� ���2
���� ��� �����3 �� �	��� 
����� 	�� 	�������� ��� ���������	��� �� ������
	��� 	�� 	�������� ��� �� �����	 �� 	�� 5F$ ������3 "��������� �� ��� 9�
���� �� 6���� '3*� 	���������� ������� ��	��� ��� 	�� ���	�� �� 	�� 9����

������ ������� �� 	�� 5F$ ������ ��� 	�� 9��� ��������23

,������ �� 	���� 	
� ������	��� 	�� 5F$ ������ 9��� ������ !��� ���
�
:�����2 
�	� ���������� ���� ��� ���	 �� 	�� ��	�� ����� �� 	�� 9��� ���6���

������ 	�� ������� ���	��1���� �	���	��� �� 	�� 	��������2 ���
� 8��	 ���
�23

'�' -�� ��� �� ��� -����� ��)�� ����

+ ������ �����	��	 ��98��	 ��� ��, �������	��� ��� �� ������2 ���	����� ��
	�� ����	�� '30� 	�� ��	������	��� �� 	�� 
��	� ��� ���	� �� ��, �������
������ ����	 	�� ������ �������3 +� �7������� �� ����	�� '3�� � ���� 	�����
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������ '3*% !�$����� ��� ���� �	�6�� ��	 �
� ���� ����������� ,"� ���� $���	�
�� ��$���� �� �"� ���� ���� �� ��$	������ ���� ��������= ����� �� ��7�	��� �	�
�"
	���� �� �"� ����	��� �7�$��# ��������� �� �"� ����$���� ������ 


�� ������ ��	� � 5� ������3 +�	��
���� 	�� ������ 
�� ������� 	� �7����
	�� ��� ������ ����� 	�� 	����� ������ 	�� ������3

������ '3/ <�> ���
� 	�� 	��������2 �� 	��� �������� ��, ���� 	�����3
"�� ������������� 5F$ ������ �� ���
� �� 6���� '3/ <9>3 +����� 	�� 	��
���	��� 
�� ��	���
�� 	� �9	��� 	�� ������	 5F$ ������� �� ���1�������	���
��
 ����� �����3 "�� 	�����C� �����	 �� 	�� 5F$ ������ �7����� 	�� ��	���
���������� �� 	�� 	�����3 ��	� � ���	��� ���9�9���	2� ���� ��� 9� ���		����
��	 �� 	���� �������	 �����	��� ��� ���� ������������� 	� 	�� 9���3 �� 	��	

�2� 	��2 ��� ����� ����� ��	 ������� 92 	�� 9��� ����3

������ '3& ���
� � ������ �� 	�� ��, ���� 	�����3 "�� ���2 ������
���� ����������� 	� ��� 9��� ������� 
���� �� ����	�� �� 	�� ������	2 �� 	��
	�����3 ��� 	�� ��98��	 �� ������ ����6��	��� �	 �� �����	��	 	� ���
 	��
��
� �� 	�� ������� ������ 9���
 ��� �	 	�� ���� 	�� 	������ �������������
	� 	�� ������ ���
 ��� #��
 �� 6���� '3&3

+� ��	���	� �� ���
 ��� #��
 ��� 9� �9	����� 92 ���������� �� 	��
	���������� ��� 5F$ ��	� �� � 	�����3 ������ '30( <�> �������� 	�� 	���1
������� ��� 	�� 5F$ ������ �����	 ���		�� ����� ���� �� <6���� '3/> ��������
	� 	�� �������	 9���3 "�� ���	���� ���
 9�	
��� 	�� 	��������2 ������ ���
	�� 5F$ ������ �� �����7���	��2  !( ��3 ������ '30( <9> ���
� ���	� ��
	�� 	���������� ��� 	�� 5F$ ������ �����	 ����� ���� �� ������������� 	�
	�� ��, �����	���3 "�� ���	���� #��
 9�	
��� 	��������2 ������ ��� 5F$
������ �� �9��	 �0( ��3 + ���������� �� 6���� '30( <�> ��� <9> ���
� � ��	��
#��
����
 �� �����7���	��2 0.!3 "��� ��	�� �� ���� ���6���� 92 	�������1
���� ����	��� ���������2 <"�$> �����	���	���� �� ��, �������	�� $E5��"�
M)N3 ������ '300 <�> ���
 � "�$ ����� �� 	�� ���2�������1��	� �� � $E5��"
��	�� ��, 	���	���	�3 "� �7����� 
��	 ��� 9� ���� �� 6���� '300 <�>� 	��

�$ �	���� ��� ��� 
��� ��� ����
���
�� ����	 ��� ��� �����
�
��� ���� ����	
�� �� �����
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,"� ���� ��	�$���� �� ����$���� ��� �������������= 	�$�	��� ��� ����� ,"�
����� 4� ��� 4� ����$��� �"� ��	�$����� 
"�	� �"� �����	��"�$ �� 
��� �� ���
������� 
��� �� $����	�� �� $��$����� �"� �*���� �� �"� ��� ������ 

������� ��, ������� ������� ��� 	� 9� 	���� ��	� ������	3 �� 	�� ���� �� 6�1
��� '300 <�>� 	�� ��� 9��� 
�� ������� ���2 	���� ���� �� ���� �� 0(�(3!
��� ��	�� 	�� ������� ���	� �� �9��	 ! H � �� 
�� �������3 "�� ���	� ��
� ����	��� �� 	�� ������	�� ��� ����3 ������ � ������ ���� ���� 	�� ������
����� ���2 � ����� �����	 �� 	�� 6��� ��� ���� 
�� ������	��� ��� ���2 �
����� �����	 �� 	�� ������� 
�� ���		���� �
�2�3 ��� �����	2� � ������ ��
	�� ���� �	��	��2 �� ���
� �� 6���� '300 <9>3 @�
����� � ���	��� �����	
�� 	�� ���		���� ��	����� 
��� 9� ��������	�� ����� �� 	�� ������ ���� 	��
����	 �	 
�� ���		���� �
�23 ���	�������� 	�� ������ � 	����� �� ������� 	��
���� ��	����� 
��� 9� ��������	�� �� 	�� ���� 
���� �� 	�� 	�����3 "���������
	�� �����	�� �� 	�� 	����� �	 	�� 9�		�� �� ���2 �( �� <�	 	�� 	�� �	 �� �	���
(3! ��> ��� 	���� 
��� ��
�2� 9� � ��2�� �� ��������	�� ��	�����3 �� 6����
'300 <�>� ��� ��� ��� 	
� ��A����	 ��2��� �� ��	����� �	 	�� 9�		�� ��� 	��
���� 
���� �� 	�� 	�����3 "�� ���� 
��� �� 	�� 	����� ������	 �� ��������	��
��	������ �����
�� 92 � ���� �� �	�����2 ������� �� ���������
�� ��	�����3

+����� ��� ��� ��	������ 	�� �7	��	 �� 	�� ��� 9��� ������3 �� ���	���	
	� 	�� 5F$ �����	���	���� �� ������� ������� 
������ 	�� "�$ ����� �� 	��
$E5��" ���
� � ������� ���� 	��	 �7	���� ���2 �9��	 ���
R!(( �� ��
	�� 9��� �����	��� ��� �9��	 #��
R0(( �� ������������� 	� �	3 "��� ��

����� ������ 
��������
�� �
� �� 
�������	� -��� ��� ���� �� 
�������� 
��� ��� 5"4&�)
������� �� ��� ������ 	��
��� �� ��� �	����� ���	��� �������	� �� ��� ��
� ���� �	� ������
�� ��� ����
���
�� ����	�

�-� ������	 ����
��� ���� ����� ��� ����� 
�� ���� 
� �����
��� 
� ��� �
���� ����� )��
�
7�	��� ���� ����� ���� � �	�������� 
����� �� ��� C��� ����� �� � �	�����
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AFIB

AFIB > BFIB

BFIB

������ '3&% �$"��� �� � !'9 ������ �	��$" ,"� �	�= �"���� �	�� $�		������� ��
�"� ��� ������ ���� �� �"� ������ 9�$���� �� �"� ��
 �	��������= �"�� �� ��� ��
�$����	�� �7 �"� ��$����� ���� � ��	�� �����# �"� ������ �� �"� ���� 
���� �
��
�
�*����� ���� ���� �"� ������ �"�� �"� ������ �� �"� ������ ����
� �� �"� �	��$" 

���2 ��� 	���� �� 	�� ������ �7	��	 �������� 92 5F$ �� 	�� ������� 5�
9��� �������� ���� �� 	�� ��	�� #��
����
 �� ���� 0.!3 "��� ��� 9� �7�������
92 ��������� 	�� ��	��	��� �����	���	2 �� "�$ ��� 5F$3 "� ��	 ���	���	
�� "�$� � ��2�	������ ��9�	��	� ��� 	� 9� ���������
�� 	� � ���� �7	��	�

���� ����� ���2 ���� ��� �����3 E� 	�� �	��� ����� 5F$ �� �9�� 	� ��	��	
������	2 ������	��	���� ��
� 	� 0( H 0(( �	��� ��� ��� <0(�� 1 0(�
 �	���
��� ���>� 
���� �� �����	���� ���� �����	��� 	��� "�$3
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������ '30(% ��� �����	���� �� �����	��"�$ ��� ��� ������ "���"� ����� �"�
���� 4� ��	����� �� �"� ��� ���� ��� ,����	��"�$ ��� ��� ������ "���"� �	� ����
$����	�� ����� �"� ���� 4� ��	�����$���	 �� �"� ��$����� ���� '� �"�� ��	�$����#
�"� ��7�	��$� ���
��� �����	��"= ��� ��� �� �����6$����= ���� �"�� �� ��� 
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������ '300% ��� ,(� ����� �� � �	��$" ������ ���� �"� ���=����$�� ���� �� � �)��
!(, �= � !'9 �	�$��� )�� $�� �����= ����������" ���
��� 	���������� ����	���
������ �"� �	��$" ��� �"� ���	�"������ "��� ��	�"�	 �
�= �	�� �"� �	��$" ���


��� 
��
 �	� �"� ��� �� �"� 	���������� ����	��� ��� �"� ���	�"������ �	��� ��
�"� $�		��������� ��	�$����� ��� ������� �$"��� �� �"� !'9 �=���� 



������	 %

���	������� �����������

�����	������ �� ���	 ��� �	�	

��#�	�� �������

6�� -�����"�����

+�� ��	� ������	�� �� 	��� ����	�� 
��� �������� 92 	�� J5F51��	�� ��1
����9�� �� ����	�� �3!3 "�� ���� ����� �� ����	�� � 
�� 	� ������9� 	��
J5F51��	�� ��� 	� ���
 	�� ��������� �� �����	��� �� � ������	���� 9�����
��� 	�� ��A������ 	� ������	����� 5F$3 "��� ���	 6��	 �������� � ������
��	 �� ������	��� ��� �7�������� 	� ��� 	�� ��	�� �A��	����23 +�	��
����� 	�
���
 	�� ���2 ���� :����	2 �� 	�� ���������� F<G> ������ �9	����� 92 J5F5
� ���������� �� ���������� F<G> ������ ��� F<G> ������ ���� ����� �����
$E5 ������	��� 
�� ���������3 ������2� 	� ���
 	��	 J5F51��	�� ��� 9�
������� 	� ��	 ������ �������	��� �9��	 � ������� 	�� ��	��� 
�� ���� ��
��E� ������� ������� 	��	 ���
 ���2 ����� ����� ���
	� �����	����3

6�
 ���������� � 7��	"� 1��� ���� ���

4���� ��������� 	!������� 5 	!����� $��� ��!��

+� �����	��	 ������	�� �� 	�� ������	���� 9������ 
���� ��� 9� �������� 92
	�� ����� �� 	�� ������� �
�� �����3 �	 ��	������� ��
 ���2 ������ ������	����
����������	� ��� �������� ��	������2 	� �9	��� 	�� �����	��� ����� 
���� ��
	��� ������2�� �� 	�� 9����� �	���� �� �� 	������		�� 	� � �����	��3 B�����1
��� ���� ������	���� ������ ����� ������ ����������	 ����	���� ����� 	��
���� ������� �
��3 ��� 	�� ���� �� ������	����� ��� �� � ���������� 	��

& 



������	 �� ���	������� ����������� �����	������ &*

	��� �������	���� �	 � ���	��� ������� 	��� ����� �� ���
� �� 	�9��  30 	����
���� 	�� 9�����C� ������M0N3 "�� ����	��� �����7���	��2 ���9��� 
�	� ��1
��2 ��������	 �� 	�� ������� 	��� �����3 "�� ������ 	�� ������� 	��� ������
	�� ���� ����� �� ������������ 	� 	�� 6��� ������	���� ������3 �� 	�� ����� ��
	���2 ������� 	�� �������� �� ����������	 �������2 �� ������	����� 	� 	��
�:���� ���	 �� 	�� ����������	 ����	���� 
���� �� � 
��� ���
� ����	��� ����
�	�	��	���3 ������  30 ���
� 6�� F<G> ������ �������� 
�	� ������� 	��� ������
������� ���� / 	� 0! 
�	� �	��� ������	��� ���� ����	��	3 E�� ��� ��� 	��
����������	 �� 	�� ������ 	� ����� ��	�� 
�	� ��������� ����������	 	���3
"� ������� 	�� ����� �� 	�� F<G> ������� 	�� �	������ �����	��� $ �� 	��

"�9��  30% ,"� ���	��� ���� ����� �� �� �� ��� ���� �"� $���$����$� �	���� ��� �"�
$�		��������� �����	����� ��	����� �� ��$���� 

������� 	��� ����� �����7���	� ����������	 	��� <�>
/ !3'
& )3(
0(  3&
00 0!3(
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���2 ������ ������ �� 	�� ���	 ���� �� 	�� ����� 
�� ��	�������3 "�� �������

���� ��� 	� 	�� �������� 	� 	��� �� ������� ����	��� ��  3& � ��� �������1
���	 ����	 
�� � ������ 	�����A 9�	
��� �������2 ��� 	��� �������	���3
���������2 ������ 	�� ���2 6��	 �7�������	� 	�� ��	���� ��� ���	���� ����	 ��
	�� +�$ 	�� ����� ���� ���9��� 9������ �	 ���	��	� 	�� F<G> ������3 "��
����������	 �� ��	���� 	� ������ 	�� +�$ 	�� ����	 �� ������9�� �� ����	��
 3�3 "�� ������ � ����� F<G> ����� 	���� 	� 9� �������� �	 � ����	��	 ����	
��	�� 	�� ���� 	�� ����� 
��� 9� ���	��	��3 +�� �� 	�� �����
��� F<G> ������
������	�� ���� 
��� 	�������� �������� 	����� �� ������� ����	��� ��  3& �
��� ����������	 ����	� ���������� �� ��	�� ����������	� 	� ������ 	�� ����	�3
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������  30% ,"� ��%���$� �� �"� ���	��� ���� ����� �� �"� �$$�	�$= �� �"� 	�$�	���
��/� $�	��� !	�� ��� �� ������F ���	��� ���� ����� H# C3 CC ��� CE $�		���������
�� � ���� $���������� ��	 ����� �� E 2�# 1 3�# I H�# CE� ��� EA�# 	����$�����= ,�
����	��� �"� $�	���# �7���� 
�	� ����� ,"� ������	� ��������� � 
�� $��$������
��	 ���	= $�	�� �� �"� �	�= �"���� �	�� ,� $��$����� � ��	 �"� $�	�� �� �"� ������
�� �"� �	��" ����� $����������F EA��# �"� ��	�����$ $������� ����� �� �"� ���� "���
�� �"� $�	�� 
�� ����	�$��� �����	������ �= $��	���= �� ����"��� �$"	�����$� 

���	�������� � ����2 �� * ������� 
��� �������� �� 9�	
��� 	�� ������ ����	�
��� �:����9��	��� ��������3 "��������� ��� ������	���� ����� ����2 0) �������
�� ��	 ��	 92 	�� 9�����3 ����� �	 ������ ��������2� ���	���� F<G> ������

��� �������� �� ��� ��� 	�� ���� ������ ���	3 +�	��
���� ��� 	��� ������

��� �������� ����	
��� 	� �������� 	�� �������2 <��� ����	��  3) ��� ���	���
�������	���>3

4���� $�� -��������� ,������

+��	��� �����	��	 ������	�� �� 	�� �����	��� �� 	�� 	��	 ���	��� <�������
�
�� �� ���
���
�� �������> ������� 92 	�� 9����� ������ � ����������	3 "��
9����� ����
� 	� ����	 �� ������� ���
��� �� 	�� �7��	�	��� ���	��� �� 	��
����� �� (3� �G 	� 0'G M0N3 @�
����� 	�� ��	����2 ������� �7��	�	��� ���	���
��2 9� ��
�� 	��� 	�� ���� ����	 ��������� �� 	�� �����	��� �� 	�� ���1
����� ������	����3 �� �������� ������ ������	���� ������ ���� 	� �7��	�	���
���	���� 
���� ��� ��
�� 	��� 	�� ��7���� ����� ����� 92 	�� ����3 "�9��
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"�9��  3!% (*$������� �������� ��������$���= ������� �= �"� �	���� 
"�� $���
��$��� �� � $���$����$� �� �"� ����� ��������� +�
���	# ���	 ����� ���		����
���	= ������� �� �"� �	���� �� ����= ��	��	 �������� �"�� �"� ���	 ����� 

����	 <���	�> $�7���� ������	���� <��>
0'3(( 00(
*3'( !!(
� ''(

(3!'   ((

 3! 	���� ���� 	�� 9�����C� ������ M0N ���������� 	��	 ����3 ��� �7������
� ���� ����	 �� 0'G ��� � 	��	�� ������	�� �� ���� 	���   ((�� 
���� ����
	� �� �7��	�	��� ���	��� �� ���2 (3!'G3 @�
����� 	�� ���� ����	 �� � ���	���
�7��	�	��� ���	��� ����� ��������� ����2 �		���	 �� 	�� 9����� 	� ����2 ������
���	���� 	��� 	�� ���� ����	 �� ���� �� � ����� ������	��3 "�������� �	 ��
�����9�� 	� ������� � 0�� ������	�� 
�	� �� �7��	�	��� ���	��� ��� ��2� (30G3
"� ������	��� ��
 	�� ������� �7��	�	��� ���	��� �� �������	�� �� ������� ���
������� �������3 ����	� ���� ������� ���� ���� ���� � ����	�	��� �� 	�� 	�1
	���2 ������� ���	��� 9������ �� 	���� ��
 9����1��
� ���	���� �� ���� 	���
'G3 +��	��� ������ ��� � �����	��� �� 	��	 ������ �7��	�	��� ���	���� ������
	�� ����� �� 	�� F<G> ������3 ��	� ��������� �7��	�	��� ���	��� 	�� F<G>
������ 9����� 9������3 "�� ������ ��� 	��� 9�������� ��� 9� �7������� ��
�����
�% �� 	�� ������� ����	��	 �F ���	��� �����	�� 	�� $E5 ������	�� ����
	�� I�	9��� ���	��� 9�	 �� �	��� �� ��������	���� � ����� +F �7��	�	��� ���	1
���� ������ ���	� �� 	�� �2���� 
��� ����� 	�� ������	�� 9�2��� 	�� I�	9���
�����	��� ��	� 	�� �����	��� ������3 "�� ��	1�A��	 �� � ������	���� �����
����
���� 9�	
��� ��������	��� ��� �����	��� ������3 ������  3! ���
�
	�� ��I����� �� ��A����	 �7��	�	��� ���	���� �� 	�� :����	2 ��� ����� �� 	��
F<G> ������3 "���� �� �� ����9�� 9��������� �� 	�� ������ 
��� 	�� �7��	�1
	��� ���	��� �� ��������� ���� (30G 	� (3!'G3 @�
����� �� 6����  3! ��� ���
���� ��� � �������� �� 	�� ����� 
��� 	�� �7��	�	��� �� ���������3 @����� �71
��	�	��� ���	��� ����� ���� �������	��� ������ �� ����	��� 	� ������ ������
I��	��	���� ��� 	�������� �� ��������� ������ 	� ����� ��	��3 +	 �� �7��	�1
	��� ���	��� �� �G 	�� ����� ������� ���2 ����	� 9�	 �� ���� 	�� 9����
	� �7	���	 ��2 ������ ��	�3 �	 �� � 	�����A 9�	
��� ����� ��� 9���������3
,������ ��
�� �7��	�	��� ���	���� 	��� (3!'G �� ��	 �������� 	�� ����� ��
	�� 	�����	��� ������ 9�	
��� ��������	��� ��� ��������� �� 6����  3! ���
���2 ���� 	� ���� ������ �	 ���� ����� 	� ��� �� �7��	�	��� ���	��� �� (3!'G
	��������	 	�� �����
��� �7�������	�3
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������  3!% ,"� ��%���$� �� �"� ���������� ������� �� �"� �$$�	�$= ��� �"�
�"��� �� �"� ��/� $�	��� !	�� ��� �� ������F ���������� �������� �� 3 C/#
3 E2/# 3 R2/ ��� C 2/  ,� ����	��� �"� $�	���# �7���� 
�	� ����� '� ����	��#
"��"�	 ���������� �������� ���� �� � 	���$�� �����# ��� �	����� �"� ��/� $�	��� 
�����	������ �= $��	���= �� ����"��� �$"	�����$� 

4���� &��� 6 + .�7����� ���  ��'��8

"�� ��7	 �����	��	 :���	��� �� 
��	��� 	�� J5F5 ����������	� �� ��I�����
	�� ������ ������� �� ��	3 +� ������9�� �� ����	�� )� �������� �� 	�� �7���
������� ������ ������� �� � ������ ���9��� ��� �	������ 5F$��	����3 #����
������� �����	���� �������� ��� ���	��2 	�� 5F$ ������ 
�	��� ����	�� 
���
�������� ���� �� ����3 ���� �� ������	��� 9������
� ��� 9� ������� �		���2
��� 	� 	�� �7��	 ��	������	��� �� 	�� 9������C ����	����� ��	��	 ���	���� 	����
������� 	�� �����9���	2 �� ����	���������� ��������� 
���� ����� ������� 	��
�7��� ����� �� 	�� ������3 ���������2 	�� ���	 	��	 �� J5F5 	�� +�$ 	��
��	�� ������� � ���2 ���� 	��� �� ��� ��� 	�� ���� ������ ���	 ����� �	
�����9�� 	��	 ���� � ���2 ����� ����	��� �������	��� ��	� ��� ��������	�
	� � ������ �A��	3 "� �����	���	� 	��	 ������ 	�� �������� 
�� ������� �� ��
����	�� )� 
���� � ����9�� �������	��� �� 	�� �7��� 
�� �������� 92 ��������
���� ��� ��� 	�� ���� ���� ������� 	����3 ��� 	�� ������� J5F5 �7�������	�
�9��	 0!( ������ F<G> ������ 
��� �������� ��9��:���	�2 �� ��� ������ ���	
�� � 5�E� ������� 5� ������3 "�� 	�������� 	 �� 	�� �7��� 
�� ���2 ) ��3
+�	��
����� �������� �� �( ������ F<G> ������ 
��� �������� ����	
��� 	�
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������  3�% 1 ��/� $�	��� �������� �� ��� ��� �"� ���� ������ ���� �� ��)�

����	 ���	����� ���	 A3 ������ $�	��� ,"�	� �	� �� ��7�	��$�� ���
��� �"� $�	���#
�"�	���	� ��� $�� ������ �"�� 
��"�� E1 "��	� �� $��������� :���������	������
�"� ������ ��	��$� ���� ��� ���	��� 

�9	��� ) �����	��� ������� 
���� ��� ���
� �� 6����  3�3 �	 	��� �9��	  
����� 	� �9	��� 	�� �( ������ ������ ��� ��� �� 	�� �������� ������ �� 6����
 3�3 L��	��� � ������ �� 	�� �7��� <��������	���> ������	���� ��� � ����	 ��
	�� 	�����	��� ������ <I�	9��� ���	���> ������	��� �������	��� �� 	�� �7��� ��
���� ������	�� 9����1�� �� ������ ������ 	�� �7���3 +�� 	�� ) �������� ������
�� 6����  3� ���� 	�� ���� ����� ��� ����	���3 "��� �� 	�� ����6��	��� 	��	
J5F5 ����������	� ����� ������	� ���	��� �����	���� �� ��	 ��I����� 	��
������	��� �� 	�� ������3

6�! ��� ��� ���	�� ��� ��"���� ���"���

+	 	�� ������	 �	�	� �� ����������	 	�� J5F51��	�� ���� 
�	���	 ��2 �����
����9���� 	� ��	 ��� �� 	�� ��I����� �� ����	3 E� ������� 	���� ��� ���� �����1
9���	��� 	� ��������	 ����9��� ����� 	��	 �� ��	 ��I����� 	�� F<G> �������1
���	�3 +��������� 	��	 �����2 ���	��� ��� 	�� �� ��� ��
� �������	 �� 	��
	�� <
1�����	���> ��� ��� �7����� +�$ ������� 	��	 ��	��	 	�� 	�� ��I��	���
��� 	��������� ������	� <���� 	�� 6��	 +�$ 9��� �� 0&/ M0�N>� �� 	�� �����
�� ����� 
�������	�� 	��	 �� ��	 ��	������ 
�	� 	�� ������ <�3�3 ���	�� ����1
���� ��
�� 	��� 	�� 9��� ��� �� 	�� ����������	�� ������>3 @�
����� ��� ��



������	 �� ���	������� ����������� �����	������ 0(!

	��	 ���������� ��� ���� �� ���� ��Æ���	 	� ��������	� 9������ 	��2 ��:����
��8�� ������	���	��� �� 	�� +�$ ����
���3 "�������� 	�� �������� 
�� 	�
������ �
�	�� �A 	�� ����� ����9��� 	� ��	 ��� �� 	�� ������	�� ����	 �������
�A��	� ������ 	�� ������3 ��	���	 ��2 ��������	��� ����9���� +�$ 	��
����	� 9����� �� �����3 ���������2 ����	� �� 
1�����	��� ��� ����2���3 ��	���
	�� 	�� ����� �� <�
�2 ���� 	�� ������� �������> ��� 6����2 	�� ���	��	 	�
	�� ������ �� ���	� �� �	 ����� ��
� ��� ��2 ������ 	�� ������	��� ��2��3
�� J5F5 ��2 9� ������� ��� 5���		�2 ������	���� ����������	�� ���� ����
������� 
1����	��� ������� 	��� ��������2 �9������ 
��� ���� 	� � ������ ��
	�� ������	���� 9�������� �� 	�� 	�� ������ �2�	�� ��� 	� �� ��	�����	��
�������� ���������� �� 	�� ����		�2 ���	��	M0*N3

"��� ����	�� 
��� ������� 	�� ��A����	 ������ �� ����	�� ��� ��
 	��2 ���
9� ������	�� �� ��������	��3 "���� ��� ! ������� ��� 	�� ����	� 
���� �����
9� �9������ �� 	��� 
���3

4���� ����� +���'

����	� ����2 ���
� ��A��� ���� �� ������ �
�"� ����� M'!N3 �� � ���	��� ������
�� ������� 	� � ���
�� 	�� ���
� 
��� �7���� �� ��	���	 ������������� 	� 	��
���	���3 @�
����� ���	��� �� �������� �	� ��
 ����	� <�� ����	���> �������2�
�	 ��2��	�	�����2 ����� 	� 	�� ��
 �:����9���� ����	���3 "��� ������ 9�	�
�� ��	���� <71 ��� 21 > �� 
��� �� �� ���	���� <
1> �����	���3 "�� �����	���
�� 	�� ����� �� � ��
 ������	 �� 	�� ���
� �7�������3 "�� �9������ 	���
����	��	 �� � ��
 ����	�� ��� 	�� ����	�� ���	�����	� +�$ ���� �� 	���

���3 + ��	 �� �A��	� ���� 9��� ���� 	� ��	 ��� �� M�&N� �� ��������	�
��� 	�� ���1����� 9�������� �� ���
�� M) � '� 00�N3 "�� ������	 �����9���	2
	� ��	 ��� �� 	��� 	2�� �� 	�� ����	 �� �����2 	� 
��	 ���� ������ ��	�� 	��
���
� ��� �����2 ������� �	� �:����9���� ����	��� ����� 	� ��2 ����������	�3
"��� 
�� 	�� �������� 	���� ��� 	��� 
���3 "�� ������ 	�� ���	��� ����	���
������ <������	����2 ���	��� ������ 	� 	�� ���
�> 	�� ���� ��� 	�� ������
	�� ���
� ����� ������3 "�������� ��� ������ ������� �� 	� ����� ��2 �����
���
� �������	� 
���� ������� ���
� ����� 	���3 +��	��� �����9���	2 	�
����	�� ����� 	��� �� 	� ����2 � �����	�2 ������ ���	��� 	��� ��:����� 	� �����
� ���	��� ����	���3 "�� ���
� 
��� �7���� � ��		�� ���� ��� 
���� ����	����2
��������	 	�� ������� ����	���3 +�	�� � ��
 ������� 	�� ���	��� �� �����
�������3 �� 	��� ��������� �� ���� �������2� 	�� ���
� ���� ��	 ���
 �����
��2����3 "�� ������ ��� 	��	 9�������� �� 	��	 ����� �� � ���	 ������ ��
��	����� ��������	��� �� 	�� ���
� ��2�	��3 ������� 	�� ���
� �	 �����	�2 ������
���	��� ��� � ����	 	��� ����� 	� ����2 � ������ �� ��������	��� 	� 	�� ���
�

���� �� �	���
��� ������� ���2 ��	�� � ���������9�� ������ 	��� ��� 	� ���
�
�����3
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"�� ������� ���� ���� ������ ������ ��� 	�� ����	� �� ��� 	� 	������ �7���1
���� �� 	�� ��	��3 +� ���	����� �� ����	�� �3!3!� 	�� +�$ ��� 	�� ������
���	 9� ���	 �� ������	� �������� ������ �� �����	�� ����3 ��� 	� ���	
�������	��� ������ 	�� +�$ ����	������� 	�� 	������	��� ������ 	�� ���� ��
�9��	 0' ÆF ������ 	��� 	�� ��9���	 	������	��� 
��� 	�� ���� 
�� ������
��� � ���� 	��� <� ��
 ��2�>3 "�� ��	�� ��� 	������	��� ����	����� 
��
������2 ������9�� �� ����	�� �3!3!3 �	 �� �����	��	 ���� 	� ������	��� 	��
����	��� ������7 ��	����	��� 9�	
��� 	�� <����	��� �� 	��> 	������	��� ������
��� 	�� ��A����	 ���	 ������� �� 	�� +�$ ����
��� ������ 	�� ����3 "����
��� ��A����	 ����	���� ������ 	�� +�$ 
���� ����	����	2 �� �������	�� 	� ���	3
������  3) ���
� � ������ �� 	�� +�$ ����
��� ������ 	�� �����	�� ����
	���	��� 
�	� 	�� ����	���� �� 	�� 	������	��� ������ ��� ��� ���	 �������3
"�� ������ ���2 �������� 	�� �
� ����������� �	 � ������ ���	 ������ 	��



������	 �� ���	������� ����������� �����	������ 0()

����3 E�� ��� ������� 	��� ������ ���	 	� 9� 	�������2 �������� 	� � ���	���
�����	 ���� 	�� �	��� ���	� �� 	�� +�$3 "�� ���� ���	 ������� 
���� �����
9� ����	�6�� ���% 	�� ���	���1����	��� �	 	�� 9������� �� 	�� +�$� 	�� �����
������ ���� 	�� 	������	��� ������� 	�� ��	��� �� 	�� 71� 21� ��� 
1�	���
��� 	�� ����� ������ 	�� �������� ����3 ������� 	�� ���	��� ����	������ ���
	�� ������ ��� ���	��� 	�� ��	�� ���	�������2� 	�� �	��� ���	 ������� ���
���2 	���������2 �
�	���� �� ��� �A <	��� ������ ���� 	���9��� 
���� �� �71
������� ��	��>3 ,������ 	�� ��A����	 ���	 ������� ���� 	� ��A����	 	������
�7������� �� ��A����	 ���	� �� 	�� +�$� � ��	 �������� �� 	�� ��� 	������	���
�������� 92 	�� ������ �	 � ���	��� ����	��� ��� ���� 	� 9�	� �� ��������
�� 
��� �� � �������� �� 	�� 	��1������ ���	����� ��������� �� 
���� ���	
������� ��� �
�	���� ��3 "�� ��	��� �� �
��� �� 	�� ���	 	��	 	�� ������	��
���
����� �� 	��� �����	��	 ��98��	 �� ���2 �������	��3 "���� �� ���� ����
��� ����������	� ���2 �����	� �� 	������ �7������� ���� 	� 9� �������� ��
��	��� ����������	�3 @�
����� ������ �	 ����	 � ����1:���	�	�	��� ���� ��
	�� �������	 �� 	�� �������� ���� <�3�3 	�� ������	��� �� 	�� ���� ����	� ��
�� ��
�> ����� � 9�� �����	��� �� 	���9�� ����	��� <�3�3 �� ������ 9������
	�� ����	�� �
�2 ���� ������> ��� ����� 	�� �����9���	2 	� ��������	� ���
	�� ����	3

��	� �	��	 
�	� 	�� �������	 ���� ��� ������ 	��	 ���2 	�� ������� 	��
���	��� ����	����� ��� 	�� ����� �������	� ���	� ��� 	�� �������	��� ��	� ����
��	 ������ 
�	� 	��� <�3�3 ����� �� ��� �
�	���� �A ��	�� � 
����> ������
 3' <�> ���
� 	�� 	������	��� ������ ������ �( ����	�� ������ 	�� <������>
���� ��	�� 	�� ���� 
�� ���� ��� � ���� 	��� <�9��	 !( ����	��>3 "�� ���2
������ ���� ����� 	�� ���	 0( ����	�� �� 	�� ���	 
���� 	�� 	������	���
������ �� �9��	 &�=.����	�3 ������  3' <9> 	����� 	�� 	������	��� ������
��� �� �7	����� 	��� ��	����� �� �9��	 0 �����3 +�	�� 	
���� ��� � ����
����� <*'( ����	��> 	�� 	������	��� ������ �� 8��	 �9��	 (3!& �=.����	�3
,�	 ��
 ��� 	��� 	������	��� ������� 9� ��	�����	�� �� 	���� �� �� +�$
	�� ����	K #����	���	��2� �	 �� ���2 �����9�� 	� ������	 6��� �����	� ��� 	�
� ���� �� �2�	���	�� �	�����3 +� � ���� �� 	���9 �	 	����� ��	 ������ 	��
�7�������	�� 	��	 � ���	 	������	��� �������� �� 0 �= ����� 	� ��
�
�� 	��
+�$ 	�� �9��	 0 ��3 "��� 
���� ���� 	� � ���	���� 	�� �����������	 ��
�9��	 0(/�� <;> 
���� ��������� ��� ������ F<G> ����� �� �9��	 0! ����	��3
5��� � ����� �����������	 ����� �	 ���	����2 �������9�� 	� ������� ��2 ������
����������	�; @�
����� ��	�� 	������ �:����9��	��� ��� �9��	 0� ����� <���
6����  3' <9> >� 	�� �����������	 �� ���2 �3' �� ��� � ������ F<G> �����3
@�
����� ��� � ��Æ����	�2 �	�9�� 	������	��� ��� ��� 	� 
��	 �	 ����	 ���
��23 ���������2 
��� ��������� ����� ���9��� �� ������ �� ��� ��� ����
������ ���	 ��� ��������� ��������� �	 �� ����������� 	� 
��	 � ��2�3 �	 ��
�����	��	 	� ��	� 	��	 ���� ������� 	�� ���� ��� ���2 � ����	 	��� <�9��	
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������  3'% ,����	���	� $"���� 
�	���� ������ �"� �$�����$ "��� 
"�� $����� ��
��	 A3 ������� ��� �� ��	 CI "��	� �����	�� 
��" �"� �����	���	� �����	 ��"���
�"� $���	� �=���� !�	 ���" ����� �"� 	��� �� �����	���	� $"���� 
�� $��$������
�	�� ���� ������ �"� �	�= �"���� �	�� 

0 ������> ��	������� � ������ 	������	��� �������� �� � ��
 =����� <;>� ���
�	 	���� �	 ����	 ��� ���� ��� 	�� 	������	��� 	� ����� 	�� �:����9���� �����3
"�� ��7	 �����	 	��	 ��� 	� 9� �7������� �� 
�2 	�� +�$ 	�� ����� �� 
���
	�� 	������	��� �� ���������3 E�� ��� �7����� 	�� �����9���	2 	��	 ���	� ��
	�� +�$ ����
��� ���� � ����	��� ������ 	������ �7������� ���Æ����	3 +�
�7�����	��� 
�2 	�� 	�� �� ������ 
��� 	�� 	������	��� �� ��������� �� 	��	
	�� �������� ���� �	��� ������ 	�� +�$ 	�� ��
� ��� 	� 	������ �7��������
9�	 	�� ������ 
1�	��� ���� �7����� ��� ���	� 	�� 
���� �������� ���� 	���	���

�	� 	�� +�$ 	��3 �	 ������� �� 	�� ����	��� ��
� �� 	�� 
1�	��� ��� 	��
�������� ���� 
��	��� 	�� ��	 �A��	 �� 	�� 	�� �� � ������ �� �� � ������
��
�3 "�� ���	���� �����������	 W% �� 	�� 	�� ��� 9� �������	�� ��� 	��
�����
��� �:��	���

W% R % 	�� � & 	�� �W� 	�� � %����	 � &����	 �W�����	' < 30>


���� � ����	��� ����� ��� W% ����� 	�� 	�� ����� �� ��� � ����	��� �����
����� 	�� 	�� ���������� 	�� ������3 +������� 	�� ���� 	������	���
������ W� R W� 	�� R W�����	 ��� ��� ���	� �� 	�� +�$ <���	������ ����>
��� 	�� ���� �7������� ���Æ����	 & R & 	�� R &����	� �	��� 	�� ��
� �� 	��

1�	��� �� ������ 	��� 	��	 �� 	�� �������� ���� ��� 	�������� 	�� 	�� �����
�� 
�	� ���������� 	������	���3 "����� 	�� �7������� ���Æ����	 �� �	���
& � 0)�0(�� <������� ���� ��A����	 ��	����	 �������> ��� �������� 	�� ��
�
�� 	�� 
1�	��� ��� 	�� ���� 	� 9� %����	 R !( �� ��� % 	�� R 0( ��� � 	��1
����	��� �������� �� W� R 0 �= ����� 	� � 	�� �����������	 �� W% R �0 ��3
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��$"��� �"� ����	 �� ,"� "��� �����	���	� �
�	����� 
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E9�����	���� ������ 	�� ����������	� ���
 �����7���	��2 	�� ���� �����3
"�� ��I����� �� ���� ���	���� �������	� �� 	�� ��	��� F<G> ����������	�
������� �	�����2 �� 	�� �����	�2 ��� ������ ����	��	 �� 	�� ���� ���	�������

���� 
��� 9� ��������� ��	��3

+� ��������� �� ����	�� �3!3! <���	��	� �� ���� )&>� ��� F<G> �������1
���	� ���� 	� 9� ���� �� ������	� ��������3 "�������� �
�	����� �A 	��
����9��� ����� �� �����	��23 "��� ����� 	��	 	�� �������� ���� <
���� 	��
����� �� ����	��> �� �� ������ ���	��� ��� 	�� 	������	��� � 	�� �� 	�� ����1
���� ���� ����	����2 ��������� ���� :�����2 	��� 	�� 	������	��� �����	 ��
	�� 
1�	���3 ��� 	� �:��	���  30� 	��� ����� 	��	 	�� 	�� ����� ��3 E��
���2 
�2 	� ������ 	������ �7������� �� ���	���	��� �� 	� �����2 ������ 	��
����	����	��� �������	 �� 	�� 
1���
� 
���� �� ���	������ 92 	�� +�$ �����
����9��� �2�	�� <
���� ����� 	��	 	�� ����� ��� 	� 9� �
�	���� ��>3 �� 6����
 3 9�	� 	�� 	��� �����	��� �� 	�� 	������ 	�� �����������	 W% �� 
��� �� 	��
��� 	������	��� 
�� �������� 
��� 	�� ����� 
�� �
�	���� �� ��	�� 	�� �2�1
	�� ��	 ���� 	� ���	��� �����	���� 
��� 	�� ����� 
�� �
�	���� �� ��� � ����
	���3 "�� 	������ 	�� �����������	 W% 
�� �������� 92 ��������� 	�� ���
�
���	��� ������� 92 	�� ����9��� �2�	�� 	� ����	����	 	������ �7������� ��
	�� �������� ����3 "�� �����������	 W% �� ����	���� ������	��� 	��	 	�� 	��
����� ��	� ��� 	� � �������2 �������� �� 	�� 	������	��� � 	�� ������ 	��
�������� ����3 "�� ���	��� 	�� �����������	 ��	� �� �9��	 S�(��.����	�3
+	 	�� ���	 ��	� ����	 	�� �������� �����������	 �� �9��	 W% R S/)( ���

������ � �������	��� 9���� �� 	�� ��	� �� 	�� 	������	��� ������ ��������



������	 �� ���	������� ����������� �����	������ 0(*

���	������ ���	��� <	������	��� ������� ����� ����2
���� �	 	�� ���� 	���
��� 	�� ���� ��	�> ����� � �����������	 �� W% R 1&/��3 ������� 	�� 	��
�����������	 �����2 ������� �	� �:����9���� ��	�� '( ����	��� 	�� ��� 	��1
����	��� �	��� ��������� ����	��	�23 �� 6����  3 <9> ��� ��� ��� 	��	 	�� ���
	������	��� �	 	�� ������C� ����	��� �����2 ������� �	� �:����9���� ���2 ��	��
0( �����3 �� 	�� ������	�� �7������� ����� �� ������ �	 �� �����9�� 	��	 	�� 	��
�����������	 ����� ������� ���� 
��� 	�� 	������	��� ������ ���� ��Æ����	�2
�� 	�� 
1�	���3 "��� �� 9� � 	���� ��� ��	��� �����	���	����3

+��	��� �����	��	 �����	 �� 	��	 ����2 ���	���� �������	 ���� ����	�� �
��	���� �������	 �� 	�� 	�� �� �� ���	��	 
�	� 	�� ������3 "��� �� � ������
�����	��� �A��	� 9������ 	�� +�$ ���	������ �� �		����� 	� 	�� 	�� ������ �	
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������� ����� 	�� 	�� ���� 	�� ������3 + 
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	� 9� ����	��	� ��� �� ��������2 ������	����� 	� 	�� 	�������� 	 �� 	�� �7���3
"��������� � ����������	 ������ � 	����� <����	��� ?! �� 6����  30)> �����1
��� � ���� ��7���� ������	���� ���%�� 9������ 	�� ����� �7��� 	�������� ��
�������3 "�� ��A������ 9�	
��� 	�� ��7���� ������	���� ������ �� 6����
 30' �� 	�������� ��� 	� � ��A����	 �7��� 	�������� 	 �	 ����	���� ?0 ��� ?!3
+��	��� �����	��	 ������	�� �� 	�� ����	��� �� 	�� 	�����	��� 9�	
��� ����1
����	��� ��� �����	��� �����	����� 	�� I�	9��� ���	��� 
�
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�� 6����  30'� 	��� ������	�� ������� �����6���	�2 ���� � ����� 
�
%� �	 	��
������ ����	��� ?0 	� 
�
%� �	 	�� ����	��� ?!3 "�� I�	9��� ���	��� 
�
 ��
����� 92 �:��	��� !3)'� ��� ������� �� 	�� 
��� ����	��� ��A������ 9�	
���
	�� ������� +�$ 	�� ��� 	�� ������� ���� 	�� �7��� ������	���� ��� ����
��� R ����� ��� 	�� 	�	�� �����	 �� �7��� ������� ��� ���� ���� R ������3
���� 	�� �������� ����	��  3' 	�� 
��� ����	��� �� 	�� ������� 	�� �� ���
�
<� ����� R '3/ �G>3 "�� 
��� ����	��� �� 	�� ������� ������� �� 	�� ������
����� ��� ��� 9� �������	�� ����� �:��	���� !300 ��� !30) <� ��� R )3& �G X
��R&") � 0(�
 ����>3 "�������� 	�� 
��� ����	��� ��A������ �� � ���� R
(3& �G3 +� 	�� 
��� ����	��� ��A������ �� ���
�� 	�� I�	9��� ���	��� 
�

�� ���2 ��	������� 92 	�� 	�	�� �7��� ������ �����	2 ���� ������ 	�� �7���
��� 	�� �7��� ������	���� ��� <�����.���>� 
���� �	���� ������� ���2 �� 	��
�7��� 	�������� 	3

"��������� �� 	�� 
��� ����	��� ��A������� 	�� ������	��� ����	��	 �� 	��
�7��� ��� 	�� 	�� ���� ��� ���
� ��� ������� 	� 9� ����	��	 	��������	
	�� �7�������	� �	 �� �����9�� 	� �9	��� 	�� �7��� ������	���� ��� 	�� 	�	��
�7��� ������ ���� �����	2 ���� ���� F<G> ����������	�3

"�� ���������� F<G> ������ �� 6����  30' 
��� �9	����� 92 ����	����
	�� ��
 ��	� ��� ��9	���	��� 	�� ������ �� �����	��� ������ �	��2 ������1
	���� <�9��	 *! ��>3 "�� ����� �� ��	�������� 	�� I�	9��� ���	��� ��� 	�
����2��� ��A����	 ����	���� ������	��� �� ��� ��� 	�� ���� F<G> �����
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	����� ��	 	� 9� 9���
 �( �G3 "��� �� �������9�� �������� 	� 	�� �����	���
�� 	�� I�	9��� ���	��� 
�
 ��� 	� ����2 F<G> ������3 "�� �����	 �� �����
�� 	�� ��	������	��� �� 	�� I�	9��� ���	��� 	����� ��	 	� 9� �9��	 /( �G3
"��� 
�� ��	������� 92 ��������� ��A����	 F<G> ������ �� ��� ��� 	�� ����
������ ���	� ��� ��	�������� 	�� I�	9��� ���	��� �� ������9�� �� ����	��
 3)3 +�	��
���� 	�� �	�	��	���� ������ 
�� ������	��3 5�������2� ����� ����	��
	�� �������2 �� ��	�������� 	�� �7��� ������	���� ��� 	�  ��3

������  30 ���
� ��
 	�� ����� �7��� ������	���� ��� ��� I�	9��� ���	1
��� 
�
 ������ �� 0) ���������� ����	���� ����� � ���� ������ � ������ �� 	��
�������3 "�� ���	���� 9�	
��� 	�� ����	���� 
�� !'( ��3 ,�	� 	�� �7���
������	���� ��� I�	9��� ���	��� 
��� ������� ���� F<G> ������ ��������
�� 	���� ������ ���	� �� ��������� ��  3)3 "�� I�	9��� ������	���� ��
 �	
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	���� ������ ���	� �� ����	�� �	 ���2 �9��	 !V �� 	�� ��7���� ������	����3
+� �7������� �� ����	��  3)� �� 	��� ���� �	 �� 	�� ��������	� 	� ��	������ 	��
I�	9��� ���	��� �����	�2 ���� 	�� ������������� ���2 ��
 I�	9��� ������1
	����3 ���	���� 
�
� 
�� ��	������� �	 !(V �� 	�� ��7���� ������	����3
+� ��	���	� �� 	�� �2�	���	�� ���	��� ����	 W
 �� 	�� �������� ����� 
��
������ 92 ��	�������� 	�� ���	��� ����	 9�	
��� !V ��� !(V �� 	�� ��71
���� ������	���� �� � ������	�� F<G> �����3 <��� ����	��  3)>3 ������2�

�
� ��� W
 
��� ���� 	� �������	� 	�� I�	9��� ���	��� ������ �� 6����
 30 <9>3 "�� ����� 9��� �� 6���� <9> ��� <�> ���
 �����	���� ��  �� ���
/( �G ������	����2� ��� ��� ��� 	� �����3 �� ���	���	 	� ����	��  3' ���2
��� F<G> ����� 
�� �������� ��� ������ ���	3 "���� 	��� ��������� ����1
����� ���������� ���� ���2 ������ ����� 9� ������� ��� 	�� ����������	
	��� 
�� ������� 	� �9��	 0! ����	�� ��� ������ ���	3 "��������� �	 �� �	���
�����9�� 	� ������� 	�� �9	����� ����� ����� 92 ��������� ���� F<G> �������
���� �	 	�� �7����� �� ������ ����������	 	����3 �� 6����  30 <�>� � �����
���	��� �� 	�� ��E� ��2�� 	��������2 �� ���
�3 "�� �����	��� �� 	�� �7���
	�������� 
�� �������� 92 ��� ���	��	 +�$3 + ����	��	 9��������� 
��
����� 	� 	�� �����	 ����� ����� 	�� ������� 	�������� �� 	�� �7��� ��	�������
92 ���������	�23
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���� 	�	��R'30! �� �� 	�� ������� 	�������� �� 	�� �7���� /��� �� 	�� ��1
���� �� 	�� ������	��� ��� . �� 	�� �����3 "�� �����	��� �� 	�� �7��� 	����1
���� �������	�� ������ 	�� ������� 	��������� 	�������� 	�� �����	��� 	���

�� ��6��� �� ���� �� 	�� (3) �� ��A������ �������� 92 ��� ���	��	 +�$
<	���R(3)��.!>3 ������  30 <9> ���
� 	�� ������	���� ������ ��� �������
���� �������� F<G> ������ �� 	�� 0) �����2 ������ ����	����3 + ����������
�� 6����  30 <�> ��� <9> ���
� 	��	 	�� ������� /��� �� 	�� 	��������2 ���
������	���� �������	���� ��� �9��	 0 )' �� ��� �� �7������	 ��������	3 +�
�������� �� 	�� �7��� 	�������� 	 ����� 	� � �������� �� 	�� �7��� ������	����
���� 
���� �� �� ���������� 
�	� �:��	��� !303 �� 6����  30 <9> � ������
����16	 
�� ������� �� � ����� ��� 	�� �2�3 �� 6����  30 <�>� 	�� �����	���
�� 	�� I�	9��� ���	��� 
�
 �� ���
�3 +���� � ������ ����16	 
�� �������3
+�������� 	� 	�� 6	� 	�� ����� �� ����	�� 	� 	�� ���	 ����� ��� 	�� ������ ��
/���R0 0� �� �� �����	�2 ������� 	��� 	�� ������	���� �� 6����  30 <9>3
@�
����� 	��� �����	���� ��� :��	� ������ ��� �� �2�	���	�� �A��	 �� ����
	������3 E� 	�� 
����� 	�� I�	9��� ���	��� ���
� 	�� ���� ���������	2 ��
	�� 	��������2 ��� 	�� ������	����3 "�� ������	���� ��� I�	9��� ���	���
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������  30*% ,"� 	�$��	�$�� �� �"� �*��� $���$����$� �C����� �� ������� ��	���
�"� �"�$����� �� �"� �*��� � �� � 0	)� 	����� ,"� ���"�� ���� �"�
� � �����	 6�
�� �"� ����# �"� �	�= �	�� $���	� ���	=�"��� 
��"�� ��� ������	� ��������� �� �"�
��$�	�����= �� �"� 6� ,"� ����� ����� ���� �"� ���� ��	 �����	 $��	��= 

+ ����6��	��� 	��	 	���� �� ���� � ���������� �����
���
�� �������	��� 9�1
	
��� 	��������2 ��� �7��� ������	���� �� ���
� �� 6����  30*3 @��� 	��
���������� �� 	�� �7��� ������	���� �� 	�� 0) �����2 ������ ����	���� �� ���	1
	�� ������ 	�� ������������� 	�������� �� 	�� �7���3 "�� �7��� 	�������� 	<
>
����� 
�� 	�� ��� �� 	�� ������� 	�������� ���� ���������	�2 ��� 	�� ����1
�	���� �������� 92 +�$ <�:��	���  3*>3 "�� ��		�� ���� 6	� 	�� ��������
��	� 
���� ��� ������ 92 �������3 "�� ���2 ������ ���� ����������� 	� ���
�	������ �����	��� �� 	�� 6	 ������	���3 +������� � ����	��	 ������	��� ���1
�	��	 ��� 	��������	 	�� 	�������� �� 	�� �7���� 	�� ����� �������	��� ������
9� � �	�����	 ���� ��	�����	��� 	�� ������ �� 	�� �����3 "��� ��:�������	 ��
�����2 ���6���� 92 	�� �������� ��	�3 "�� �	������ �����	��� �� :��	� �����
��� 	�� 6	 9���� �� �������� ��	� �� ���� 	��� ��� �	������ �����	��� �
�2
���� 	�� ����� ����� 	��	 
���� ��	�����	 	�� ������ ������3 "�� ����	 ���
�
� �����6��	��� �� 	�� �������	 ���	 ����3 ���� 	�� ����� �� 	�� ����� ��� ���
�������	� 	�� �A��	���� ����	����� 	�� ���� �� 
���� 	����� ��	 	� 9� * �* 
���3 "��� �����	 �� �������9�� ��� ������� ���	�� +�$ 	��� 	��	� ���������
	� ��	�����	�� ���
 � ������ �� �����	��� �� 	�� 	�� ���7 �2��� �� 9�	
���
0(( ��� !(( ��3

#���� �:��	���� !3)' ��� 	�� ������	���� ��� I�	9��� ���	��� ��	�� ���
��� �������	� 	�� 	�	�� �7��� ������ ���� �����	2 ����3 "� �����	� 	�� �����
�����	2� 	�� ���������2 �������	�� ����	����� 	�� ���� �R* �* ��� 
�� ����3
"�� �����	 �� ���
� �� 6����  30/3 ����	 
� 6�� 	��	 	�� �7��� ������ �����	2
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�
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����� ����	��� �� 67�� �7��� ������� �� 	��	 ���	��9�	� 	� 	�� 	�	�� �7���
������� ��� 
���� ��� ����	�� 
�	��� 	�� 6��	 ��
 ������	��� �� ��E� ��2��
��	�� 	�� 5�1��E� ��	������3 ��	� �9��	 ' �� 	�� ��E� ��2�� ��2 9� 	�� 	���
��� ����� ����	���� �� ����	��� ����	����2 ������� �7��� 	���� ���3 "�� ����
�����	��	 �����	� ��
����� �� 	��	 	�� 	�	�� �7��� ������ ���9�� �����	2 ����

<���� R ������> �� ��	 ����	��	 ��� ������ 9�	
��� S03��0(�� ���� �	 	��
	������ ��� S)3*�0(�� ���� �	 	�� ������ �� 	�� ������	�� ������ �������3
��� 	� ������ �����	���	��� �� /( �G �� ��	�������� 	�� I�	9��� ���	����
	�� 	�	�� �7��� ������ ���9�� �����	2 ���� ������ 92 �03/�0(�� ����3 �����
9��� ��� ��	 ����������2 �� 6����  30/3 �� ����	���� �2�	���	�� �����	���	���
�� 	�� 
��� ����	��� �� 	�� ������� 	�� ���(30 �G ���� 	� � �����9�� ������	���
����	 �� 	�� 
���� ����� �� 6����  30/ �� �9��	 �!�0(�� ���� <��	 ���
� ��
6����  30/>3

+� ��� ��� ��� ���� 6����  30/� 	�� ���������	2 �� 	�� �������	�� 	�	��
������ ���9�� �����	2 ���� �� 	�� ���� �� �� 	�� �7��� 	��������23 "��
������ 	�� �7��� 	�������� �	 � ����	���� 	�� ������ �� 	�� ������ �����	2 �	
	��	 ����	���3
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��	2 ���� �� 6����  30/ ��� �7��� 	�������� �� 6����  30 <�> ��� ��� ����
9���� �:���3 "�� ������ �����	2 ���� 	��� 	������ 
���� 	�� �7��� 	��������
��������� ���2 92 (3) �� <���� 	��� 0(V �� 	�� 	�	�� 	��������>3 "��� �� ��
�����	��	 �����	 
���� ���
� 	��	 	�� ���
	� �����	���� �	 ����	���� 
����
������ �����	��� 	���� ����� ��� ���9�9�2 ���2 ��A����	 ���� 	�� ������
���
	� ����3
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